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1.1 R¥ET

FEEE » £ mod HEIEMN

11 gpow(1ll a, 11 b) {
11 res = 1;
while(b) {
if(b & 1) res = res * a % mod;
a=a*a%mod;
b >>=1;
}

return res;

11 inv(1l x) { return gpow(x, mod - 2); }

const int N = 1e6 + 10;
// GMERERTTT [1, n] WEAEHAT p BT
int inv[N];
void init_inv () {
int n, p;
cin >> n >> p;
inv[@] = 0, inv[1] = 1;
for (int i = 2; i <= n; i++)
inv[i] = (A)(p - p / i) * inv[p % i1 % p;// AT HIEATZ T/~ p

return 0;

1.2 ¥EJLBES X

bezout EEE: ¥ a,b NIEEE, WKT z,y FIHRE ax +by =c HBEMEHHY ¢ &
ged(a,b) BIFEEL
RIFIZER: ax + by = ged(a,b) W—HE (x, y)

A O(nlogn)

/R EEME R a*x=b(mod m)
#include <bits/stdc++.h>

using namespace std;

using 11 = long long;

int a, b, m, n;

int exgcd(int a, int b, int &x, int &y) {
if(b == 0) {
X =1,y = 0;
return a;

}
int d = exgcd(b, a % b, y, x);
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1 %%

y -=a/b * x;
return d;

int main() {
int x, y;
cin >> n;
while(n -- ) {
cin >> a >> b >> m;
int d = exgcd(a, m, X, y);

// d = gcd(a, m)s

if(b % d '= 0) puts("impossible");

}

return 0;

1.3 BSGS

find smallest non-negative z s.t. a® =0 mod p, or —1(assume 0° =1)

// find smallest non-negative x s.t. a®* =b mod p, or —1(assume 0° =1)

int babyStepGiantStep(int a, int b,
a %= p; b %= p;
if (p == 1 || b == 1) return 0;
int cnt =0, t = 1;

for (int g = __gcd(a, p); g != 1; g = __gecd(a, p)) {

if (b % g) return -1;

p /= 8g;
++cnt;
b /= 8g;

t=1LL *t * (a / g) % p;
if (b == t) return cnt;

std: :map<int, int> mp;
int m = ceil(std::sqrt(p));
int base = b;
for (int i = 0; 1 !=m; ++i) {
mp[base] = i;
base = 1LL * base * a % p;
}
base = powMod(a, m, p);
for (int i = 1; i <= m; ++i) {
t = 1LL * t * base % p;
if (mp.count(t))

return (1LL * 1 * m - mp[t]) % p + cnt;

}

return -1;

}

int p) {

// https://www.luogu.com.cn/problem/P4195

//bezout EE: FEH4& M, ged(a, m) | b
else printf("%11d\n", (11)x * (b/d) % m);



10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

1 %%

1.4 &
i i

#include<bits/stdc++.h>
using namespace std;
using 11 = long long;
const int N = 1e7 + 10;
// minp[i] % i Bi&%/NZEF http://oj.daimayuan.top/course/10/problem/733
int primes[N], pcnt, minp[N]; // ®[ AT Log %A% i 7 %k
bool vis[N]; //4& % true
int n, q;
//linear
void get_prime(int n) {
for(int i = 2; i <=n; i ++) {
if(!vis[i]) primes[ ++ pcnt] = i, minp[i] = i;
for(int j = 1; j <= pcnt & i * primes[j] <= n; ++ Jj) {
vis[i * primes[j]] = 1;
minp[primes[j] * i] = primes[j];
if(i % primes[j] == ©) break;

//about Linear :0(nloglogn)

bool isprime[N];

inline void getprime(int n) {
for (int i = 2; i <= n; i++) isprime[i] = 1;
for (int i

2; 1 <= n; i++) {
if(isprime[i]) {

primes[++pcnt]
if((11)i*i<=n)
for (int j =1 * i; j <= n; j+=1){

i;

isprime[j] = ©;
}
}
}
}
i BR iz bR 4

#include <bits/stdc++.h>

using namespace std;

/*phi compute
RiE%ZE n HE phi(n) 0(agrt(n))
BN phi(n) = n*(1-1/p1)*(1 - 1/p2)*...
*/
int get_phi(int n) {
int res = n;
for (int 1 = 2; i <=n / 1i; i++) {
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if(n % i == 0) {

res =res /i1 * (i -1); // res *= (1 - 1/n)
while(n % i == 0) n /= 1i;

}

if(n > 1) res =res / n* (n - 1);

return res;

using 11 = long long;
const int N = 1le6 + 10;

int phi[N], prime[N];
bool vis[N]; //4&%L true

void sel_phi(int n) {
int cnt = 0;
phi[1] = 1;
for (int 1 = 2; 1 <=n; 1 ++) {
if(lvis[i]) {
prime[cnt++] = i;
phi[i] = i - 1;
}

for (int j = 0; prime[j] <=n / 1i; j ++) {

vis[prime[j] * i] = true;
if(i % prime[j] == 0) {

phi[i * prime[j]] = phi[i] * prime[]];

break;

}

else
phi[prime[j] * i]

/*
458 nlog(n) BAIK phi[]
vector<int> phi(n + 1);
iota(phi.begin(), phi.end(), ©);
for (int 1 = 1; 1 <=n; 1 ++) {
for (int j = 1i; j<=n; j +=1) {
phi[j] -= phi[i];

*/
7 5 LU 5 307 bR 2

#include <bits/stdc++.h>
using namespace std;
const int N = 50010;

phi[i] * (prime[j] - 1);
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int mu[N], p[N]; // p W& ¥4
bool flg[N];
void init() {
int tot = ©0; mu[1] = 1;
for (int 1 = 2; i < N; ++1) {
if (!f1g[i]) {
p[++tot] = i;
mu[i] = -1;
}
for (int j = 1; j <= tot & i * p[j] < N; ++j) {
flg[i * p[3]] = 15
if (1 % p[j] == 0) {
mu[i * p[j]] = @
break;

3

}
mufi * p[3]] = -mu[i];

}
// ER mu wTE A
// for (int 1 = 1; 1 <= N; ++1) mu[i] += mu[1 - 1];

1.5 SREERER (FLEET)

//acwing 867
#include <bits/stdc++.h>
using namespace std;

const int N = 1le6 + 10;
vector<pair<int, int>> pfac[N];
J/TREFHAS (SFEZE 1~N A 200 5 E 202D
void init() {
for (int 1 = 2; i < N; 1 ++) {
if(pfac[i].size()) continue;
for (int j = 1i; j < N; j += 1) {
int t = j, cnt = 9;
while(t%i == 0) t/= i, cnt ++;
pfac[j].push_back({i, cnt});

//RE n HiE (n HEMEKDD

//Llog(n) & FlA &/ H SR
S/ AR — R BN TR TR E T
// B AR —A minp[i] &£~ 1 WHER/ANFETF
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//REEAL: — K n MREANKERET

// BEHERATRRERE T AZEE >1e5,
// T /N b 7 B e A B <le8

// http://0j.daimayuan.top/course/16/problem/733 |zl (F B mik )
int primes[N], minp[N], vis[N];
void get_prime(int n) {
int pcnt = 0;
for(int i = 2; i <=n; 1 ++) {
if(!lvis[i]) primes[ ++ pcnt] = i, minp[i] = i;
for(int j = 1; j <= pcnt & i * primes[j] <= n; ++ j) {
vis[i * primes[j]] = 1;
minp[primes[j] * i] = primes[j];
if(i % primes[j] == 9) break;

void decompose_log(int n) {
int cnt = 0;
while (n > 1) {
int t = minp[n];
int cnt = 9;
while (n % t == 0) {
cnt++;
n/=t;
}
printf("%d %d\n", t, cnt);

vector<int> divisors[N + 10];
// TARERET:
void init() {
// N le5 k%
for (int i = 1; 1 <= N; 1 ++) {
for (int j =1; j <=1/ j; j ++) {
if(i % j ==0) {
divisors[i].push_back(j);
if(j * j !=1) { // 3% —EF %% int, ENEIFEIELEEN nsqrt(n)
divisors[i].push_back(i / j);

int main() {
int n; cin >> n;
while(n --) {
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int x;
cin >> x;
decompose(x);

}

return 0;

1.6 HEH

1. ¢ =Cnm

2. Cr=Cm Ot

3. Co+CL+---+C=2"

d
4. lucas: Cr=C " pp * C:z%p

Z BEHGH:

W S={n-a,ny ag, - -ng-ap} Z—NH n AN a,ng A ag,-,n A ap HARNEZE
o W on=3" n, WTEEBE r<n, NS FEE r DMTRAR-ANZEE (RHIEIR
J¥), PEAERIANEZ BAEMEEN:

k
k—1 k—1 k—1 kvk—1
Ck:-l—r—l - § :Ck:-l-r—ni—Z + § : Ck-‘rr—ni—nj—?) -t (_1) Ck:-i—r— kL ni—(k+1)

i=1 1<i<j<k

& EARHFIH
ZHE S = {01 a,maaz, - onp - ax} ERIOHIIR et

nilng!l-ng!

/7K B LR 77

// A HE N EHEERFT Long Long

#include <bits/stdc++.h>

using namespace std;

using 11 = long long;

const int mod = 1e9 + 7, N = 1le6 + 10;
//C(a, b) a £ b T

/*1. REREX ERT a, b RAWEE (L) */

int C(11 a, int b) /*a & b T */{
if(a < b) return 0;
int up = 1, down = 1;
for (11i=a;i>a-b;1i--)up=1%mod* up % mod; //up *= 1
for (int j = 1; j <= b; j ++) down = (11)j * down % mod; // down *= j
return (11)up * gpow(down, mod - 2) % mod; //  (up/down)

/*¥2. Wit MEZM a, b & 2000 X MEKEH */
//0(N"2) le6~le7
void init() {
for (int 1 = 9; i < N; 1 ++)
for (int j = 9; j <= 1; j ++)
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if(13) C[i1[3] = 15
else C[i][j] = (C[i - 1][3] + C[i - 1][J - 1]) % mod;
}

// %% R
/*3. TAA#E fac[], invfac[]*/
/**
* /AR
* 1LL * fac[b] * invfac[a] % mod * invfac[b - a] % mod;
*/
// O(N) le6 =#H & N A/N
int fac[N], invfac[N];
void init() {
fac[@o] =
for (int 1 = 1; i < N; i ++) fac[i] = (11l)fac[i - 1]*i% mod;
invfac[N - 1] = gpow(fac[N - 1], mod - 2);
for (int i =N - 2; 1 >=0; i --)
invfac[i] = (11)invfac[i + 1] * (i + 1) % mod;

/*4. lucas ¥ 4 a, b WEKA A W 1e9 M E...1e18 & */
int C(int a, int b) {
int res = 1;

for (int i = 1, j = a; i <=b; i ++, j --) {

res = (1l)res * j % p;
res = (11)res * binpow(i, p - 2) % p;
}

return res;

}

11 lucas(ll a, 11 b) {//p M /i (#) #
if(a < p & b < p) return C(a, b);
return (11)C(a % p, b % p) * lucas(a / p, b / p) % p;

1.7 FH=# (catalan)

o i 2n DAHERAATHNREI. A3 5 Jt. HPFHRA n DA 5 o, 54k n
Aﬂﬁleﬁ@%,ﬂﬁ%ﬁﬁ@%,Mﬁ%mﬁE%ﬁHAEﬁleﬁ%A%%,%%&
M 5 T EIRE

o —RRIRTT IR LI n MEXMELZR n MEXETAE. 8RIbE 2n MK %
E¥E. WRABMAT R (ERTBARERD KB AERIXS Lk, LA 2 /DT RER)IERH ?

o MEB LIRS 2n AR, ROXLE S OERGERMER TR R n KRB IEL?
o XFMERAMSHITEDL T, R — T LI IX IR I3 il = A DR R 5 v 50

o MMk (LFHRO WHHRFSIN 1,2,3,--- ,n HZDDAFKHFSI?

n AN RIS 2 DA AN R O ?
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12

*n /l\ +1 Ml n /l\ -1 *@EZ 2n Iﬁ a1, @, Q2 > E%Bﬁ%uﬁﬁ/% a1+a2+"'+ak20(l€:

catalan(n) = Cy, — Cy!
Con
n+1

n

catalan(n) =
LI {1, 2, 5, 14, 42, 132 ... }

// fac[N] iC&FH &

void init() { // TUAZEMN R ALF T
fac[@] =
for (int i = 1; i < N; i++) fac[i] = (1ll)fac[i - 1] * i % mod;
ifac[N - 1] = gpow(fac[N - 1], mod - 2);
for (int i = N - 1; i; i--) ifac[i - 1] = (11l)ifac[i] * i % mod;

11 C(int n, int m) { // 44&% C(n,m)
return fac[n] * ifac[m] % mod * ifac[n - m] % mod;

11 ans = C(2 * n, n) * gpow(n + 1, mod - 2) % mod;
// or
11 ans = 1LL * (C(2 * n, n) - C(2 * n, n - 1) + mod) % mod;
1.8 RAR/RHE
S, NHIREE, |S| A S BIRA GedEANED, .

UJsSi=>18— > 1sinSi+ D 18nSnSk+-+
i=1 i=1

1<i<j<n 1<i<j<k<n
/) BRRE
J) BRERES ACKAN k), & [L, R] TEHKESNEETENERNAK

// 1<=L<=R<=10"18,1<=k<=20,2<=a1<=100
#include <bits/stdc++.h>

using 11 = long long;

using namespace std;

int main() {
11 1, r, k, f[25];
cin >> 1 >> r >> k;
for (int 1 = 9; i < k; i++) cin >> f[i];

11 ans = 09;

for (int i = 1; 1 < 1 << k; i ++) {// "=EL-FL2HWEETTE
11 ecnt =0, a=r, b=1-1; // cnt JFREFIFEHZNA

(-1

)”+1|Slﬂ---

NSy
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for (int j = 0; j < k; j ++) {
if(i >> j & 1) {

cnt++;
a /= f[3], b /= f[3];
}
}
if(cnt & 1) ans += (a - b);
else ans -= (a - b);

}

cout << ans << endl;

return 9;

}

1.9 HiLoR

FrEma: Yo f@) 2], T (2] FERAPRR A, T LB R AR
FG@) WIRTSERL, BREL (1 r] = (1, [ g ]] A~ B BOR TR MBI LR . (FRCE SRAH)
LG

« T31= Lo+ 1)

e amod b=a—|§]*b

// for(int 1 = st;i<=ed;i++) ans += num/1i
11 block(1ll st, 11 ed, 11 num) {
//sum(num/1 1 in [st,ed])
11 L = 0, res = 0;
ed = min(ed, num);
for (11 1 = st; i <=ed; i =1L + 1) {
L = min(ed, num / (num / i)); //ZXE&w/E— 14
res += (L - 1 + 1) * (num / i); //X[E [i,L] B9 num/i #2— /&
// res += (s(L) - s(i-1)) * (num/i); //s(i) A f(i) ® %A
}

return res;

1.10 Mobius &
p NS, SN
1 n=1
p(x) =40 n &G AT
(D% kR n RFAFE A5

P :

1 n=1
Zu(d)z{
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1 & 14

i B0 =TI, 0 =TT v
WL S i) = Ege d) = i G- (-1 = (14 (-1) =1

S :
ﬂ%ﬁ#
=> g(d) & g(n) =Y _ u(d
dn din
k-

> u@f (%)= Zu(d Sgtk) =3 g(k) Y () =

kI kln dl%

FI g 9(d) KBS f(2), BAPORRIT . BJ5—5Hmtedt: ,, u(d) = [n= 1], Bk
n 1 BEARROEA N, K 0=k SERENT Soln =k g(k) = g(n

X

)
=Y g(d) & g(n Zu )f(d)

n|d n|d

1.11 SHEUETT

#include<bits/stdc++.h>
using namespace std;
const int N = 110;

const double eps = le-6;
int n;

double a[N][N];

int gauss() {
int ¢, r;
for(c =0, r=0; c <n; c ++) {
int t = r;
for(int i = r; i < n; i ++)//HEETZEA
if(fabs(a[i][c]) > fabs(a[t][c]))
t =1i;

if(fabs(a[t][c]) < eps) continue;

for(int i = ¢; i <= n; i ++) swap(a[t][i], a[r][i]);
for(int i = n; i >=c; i --) a[r][i] /= a[r]lc];
for(int i = r + 1; 1 < n; 1 ++)
if(fabs(a[i][c]) > eps)
for(int j = n; j >=¢; j --)
a[i][j] -= a[r][3] * alill[c];
ro++;
}
if(r < n) {
for(int i = r; i < n; 1 ++)
if(fabs(a[i][n]) > eps)
return 2;

return 1;
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for(int i =n - 1; i >=0; i --)
for(int j =1+ 1; j < n; j ++)

a[i][n] -= a[i][3] * a[3]1[n];

return 0;//# "& —

int main() {
cin >> n ;
for(int i = 0; i < n; i ++)
for(int j =0; j < n+ 1; j ++)
cin >> a[i][j];

int t = gauss();
if(t == 0)

for(int i = 0; i < n; 1 ++) printf("%.2f\n", a[i][n]);

else if(t == 1)
puts("Infinite group solutions");
else puts("No solution");

return 0;

1.12 Miller Rabin ZHUNRK

//Loj143 prime test

#include <bits/stdc++.h>

using namespace std;

using ull = unsigned long long;
using 11 = long long;

/* 0(sqrt(n))

bool 1is_prime(lLL x)

{
i1f(x < 2) return false;
for(ll 1 = 2; 1 <= x / 1; ++1)
if(x % 1 == 0) return false;
return true;
}
*/

/) ERARFZHNIK, ZEFE int128

inline 11 gmul(1ll a, 11 b, 11 p) { return (11)((__intl128)a * b % p); }

11 gpow(1ll a, 11 b, 11 p) {
11 res = 1;
while(b) {
if(b & 1) res = gmul(res, a, p);
a = gmul(a, a, p);
b >>= 1;
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return res;

}

const int test_time = 8;

bool mr_test(1ll n) {
if(n <3 || n% 2 ==0) return n == 2;
11a=n-1, b = 0;
while(a % 2 == ©) a /= 2, ++b;

for (int i = 1, j; i <= test_time; ++i) {
11 x = rand() % (n - 2) + 2, v = gpow(x, a, n);
if(v == 1) continue;
for (j = 0; j < b; ++3) {
if(v == n - 1) break;
v = gmul(v, v, n);
}
if(j >= b) return 0;
}

return 1;

int main() {
srand(time(9));
11 x;
while(cin >> x) {
if(mr_test(x)) puts("Y");
else puts("N");

}

return 0;
}
1.13 FFT

#include <bits/stdc++.h>

#include <any>

#define rep(i, a, b) for (int 1 = (a); 1 <= (b); 1 ++)
using namespace std;

namespace FFT {
const double PI = acos(-1);
using C = complex<double>;
vector<int> rev;
vector<C> roots{C(0, 9), C(1, 9)};
void dft(vector<C>& a) {
int n = (int)a.size();
if ((int)rev.size() != n) {
int k = _ builtin_ctz(n) - 1;
rev.resize(n);

for (int i = 9; i < n; ++i) {

16



17 rev[i] = rev[i >> 1] >> 1 | (i & 1) << k;
18 }

19 }

20 if ((int)roots.size() < n) {

21 int k = __builtin_ctz(roots.size());

2 roots.resize(n);

23 while ((1 << k) < n) {

2 C e = polar(1.0, PI / (1 << k));

25 for (int i =1 << (k - 1); 1 < (1 << k); ++1i) {
26 roots[2 * i] = roots[i];

27 roots[2 * i + 1] = roots[i] * e;
28 }

29 ++k;

30 }

31 }

32 for (int 1 = 0; i < n; ++i) if (rev[i] < 1) {
33 swap(a[i], a[rev[i]l]);

34 }

35 for (int k = 1; k < n; k *= 2) {

36 for (int 1 = 0; i < n; 1 4+=2 * k) {

37 for (int j = 0; j < k; ++j) {

38 auto u = a[i + j], v = a[i + j + k] * roots[k + j];
39 a[i + j] = u + v;

0 afi + j+ k] =u - v;

a1 }

2 }

43 }

a }

45 void idft(vector<C>& a) {

6 int n = (int)a.size();

a7 reverse(a.begin() + 1, a.end());

48 dft(a);

49 for (auto& x : a) x /= n;

se )

si } // namespace FFT
52
53

sa  vector<int> mul(const vector<int> &A, const vector<int> &B) {

55 int n = max(A.size(), B.size()), tot = max(1, n * 2 - 1);
s6 int sz = 1 << __1g(tot * 2 - 1);
57 vector<complex<double>> C(sz);

58 for (int i = 0; i < A.size(); ++i) C[i].real(A[i]);
59 for (int i = 9; i < B.size(); ++i) C[i].imag(B[i]);
60 FFT::dft(C);

61 for (auto &x : C) x *= x;

62 FFT::idft(C);

63 vector<int> ans(A.size() + B.size() - 1);

64 for (int i = 0; i < ans.size(); ++i) ans[i] = int(C[i].imag() / 2 + 0.2);

65 return ans;
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int main() {

cin.tie(nullptr)->sync_with_stdio(false);

int n, m;

cin >> n >> m;

vector<int> a(n + 1), b(m + 1);

for (auto &x : a) cin >> x;

for (auto &x : b) cin >> x;

auto ¢ = mul(a, b);
for (auto &x : c) cout << x << ' ';
cout << "\n';

std::any a = 34;

return 0;

2 BB

2.1 (HW) HEE

struct DSU {

vector<int> f, siz;

DSU(int n) : f(n), siz(n, 1) { iota(f.begin(), f.end(), ©); }
int leader(int x) {

1

while (x !'= f[x]) x = f[x] = f[f[x]];

return x;
}
// int leader(int x) { // #HWHFEE
// if(x == f[x]) return x;
// int rt = leader(f[x]); //ZEf TEH—TIN/FREE
// d[x] += d[f[x]]; //F VLT R d[x] "= d[fa[x]], REREEXNEELHK
// return f[x] = rt;
/7 }
bool same(int x, int y) { return leader(x) == leader(y); }

bool merge(int x, int y) {

}

x = leader(x);

y = leader(y);

if (x == y) return false;
siz[x] += siz[y];

flyl = x;

return true;

int size(int x) { return siz[leader(x)]; }
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2.2 Sparse Table

IR ZE O), TEERE O(nlogn)

AKX EERTERTEMEE, XA “ IXTRHZ LA, “ X AHZALE ", “IX A GCD”

J/F[1][3] RAAEAET [1, 1+ 27]) HImAHE
template<class T,

class Cmp = std::less<T>>

struct RMQ {

1

const int n; // NEF 4
const Cmp cmp;
std: :vector<std: :vector<T>> a;
RMQ(const std::vector<T> &init) : n(init.size()), cmp(Cmp()) {
int 1g = std::__1g(n);
a.assign(n, std::vector<T>(1lg + 1));
for (int j = 0; j <= 1g; j++) {
for (int 1 = 9; i + (1 << J) <= n; i++) {
al[il[j] = (J == @ ? init[i] : std::min(a[i][j - 1], a[i + (1 << (F - 1))1[]
— - 1], cmp));

}
/) ERETF
T rangeMin(int 1, int r) {
int k = std::__1g(r - 1);
return std::min(a[l][k], a[r - (1 << k)][k], cmp);

2.3 01Trie

#include <bits/stdc++.h>

using namespace std;

const int N = 1e5 + 10,M = N * 31;
int a[N];

int son[M][2], idx;

void insert(int x) {

}

int p = 90;

for (int i = 30; i >= 0; --1i) {
int u = ( (x>>i) & 1);
if(!son[p][u]) son[p][u] = ++idx;
p = son[p][ul;

// BAENF x REMHAM
int query(int x) {

int p = 0, res = 0;
for (int i = 30; i >=0; --i) {

int u = (x >> i) & 1;
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if(son[p][u ~ 1]) p = son[p][u ~ 1], res |= (1 << i);
else p = son[p][u];

/) EAEAF x RBHR/NME

// if(son[p][u]) p = son[p][u];

// else res [= (1 << 1), p = son[p][u * 1];

return res;

int main() {

int n, res = 0;

cin >> n;

for(int i = 9; i < n; i++) cin >> a[i];

for(int i = 0; 1 < n; i++) {
insert(a[i]);
res = max(res, query(a[i]));

}

cout << res;

return 0;

2.4 HBHREA

// fenwich-tree EX a8, X|6E#H

J/ACERASKYA b[i] = a[i] - a[i - 1]; c[1] = 1 * b[i];
// a[l~x] = \sum_{i=1}{x} \sum _{j=1}{i}b[j]

// = \sum{i=1}{x}(x-1+1)*b[i]

// = (x+1)\sum {i=1}{x}b[1] - \sum {i=1}{x}i*b[i]

#include <bits/stdc++.h>
#define rep(i, a, b) for (int i
using namespace std;

(a); 1 <= (b); 1 ++)

using 11 = long long;

template<typename T/*, class OP

plus<T>*/>
struct fenwick {
int n;
// const OP op;
vector<T> c;
fenwick(int _n) : n(_n), c(_n + 1, 0)/*, op(OP())*/ {}
void add(int x, T v) {
for (int 1 = x; i <=n; i +=1 & -1) {
c[i] += v; // c[1] = op(c[i], V)

}
}
T sum(int x) {
T res{};
for (int 1 = x; i; 1 -=1 & -1) {

res += c[i];

20
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}

return res;

int main() {

ios::sync_with_stdio(false);
cin.tie(nullptr);
int n, m;
cin >> n >> m;
vector<int> a(n + 1);
fenwick<1l> ti(n), t2(n); //%4 b[i], b[i] * 1 &% fn
rep(i, 1, n) cin >> a[i];
rep(i, 1, n) {
int b = a[i] - a[i - 1];
tl.add(i, b);
t2.add(i, 111 * b * i);
}
auto preSum = [&](int x) {
return tl.sum(x)*(x + 1) - t2.sum(x);
}s
while(m --) {
int op, 1, r, d;
cin >> op >> 1 >> r;
if(op == 2) {
cout << preSum(r) - preSum(l - 1) << '\n';

}
else {
cin >> d;
tl.add(1l, d);
t2.add(1, 111* 1 * d);
tl.add(r + 1, -d);
t2.add(r + 1, 111 * (r + 1) * -d);
}
}
return 0;

2.5 ZEid

#include <bits/stdc++.h>

using namespace std;

struct Info {

1

Info operator+(const Info& a, const Info& b) {

}
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struct Tag {
}s

void apply(Info &a, Tag b) {
}

void apply(Tag &a, Tag b) {
}

template <typename Info, typename Tag,
typename Merge = plus<Info>>
struct SegmentTree {
const int n;
const Merge merge;
vector<Info> info;
vector<Tag> tag;
SegmentTree(int n) : n(n), merge(Merge()),
info(4 << __1g(n)), tag(4 << __1g(n)) {}

SegmentTree(vector<Info> init) : SegmentTree(init.size()) {
function<void(int, int, int)> build = [&](int p, int 1, int r) {

if (r -1 ==1) {
info[p] = init[1];
return;
}
intm=(1+r)/ 2;
build(2 * p, 1, m);
build(2 * p + 1, m, r);
pull(p);
¥
build(1, @, n);
}
void pull(int p) {
info[p] = merge(info[2 * p], info[2 * p + 1]);
}
void apply(int p, const Tag &v) {
::rapply(info[p], v);
s :apply(tag[p], v);
}
void push(int p) {
apply(2 * p, tag[pl);
apply(2 * p + 1, tag[pl);
tagp] = Tag();
}

void modify(int p, int 1, int r, int x, const Info &v) {

if (r -1 ==1) {
info[p] = v;
return;
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intm=(1+r)/ 2;
push(p);
if (x < m) {
modify(2 * p, 1, m, x, Vv);
} else {
modify(2 * p + 1, m, r, x, V);
}
pull(p);

}
void modify(int p, const Info &v) {

modify(1, ©, n, p, Vv);
¥
Info rangeQuery(int p, int 1, int r, int x, int y) {
if (1>=y || r<=x){
return Info();
}
if (1 >= x & r <=y) {
return info[p];
}
intm=(1+r)/ 2;
push(p);
return merge(rangeQuery(2 * p, 1, m, X, y), rangeQuery(2 * p + 1, m, r, X, y));
}
Info rangeQuery(int 1, int r) {
return rangeQuery(1l, 0, n, 1, r);
¥
void rangeApply(int p, int 1, int r, int x, int y, const Tag &v) {
if (1>=y || r<=x){
return;
}
if (1 >= x & r <=y) {
apply(p, v);
return;
}
intm=(1+r)/ 2;
push(p);
rangeApply(2 * p, 1, m, X, y, V);
rangeApply(2 * p + 1, m, r, X, Yy, V);
pull(p);

}
void rangeApply(int 1, int r, const Tag &v) {
return rangeApply(1, 0, n, 1, r, v);

main() {

return 0;

k. ()
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//p1502 % EFAH & H &

#include<bits/stdc++.h>

using namespace std;

using 11 = long long;

const 11 N = 1led4 + 10;

struct L {
11 x, y1, y2;
11 c;
J/SEERNGARGEEENHENFELN, ZEA LW ENETRENNE ARk

bool operator<(const L &rhs) const { return x == rhs.x ? ¢ < rhs.c :

}line[2 * NJ;

11 n, w, h, m;
11 b[2 * N]; //®Bstfenisy y 4

struct node {

11 1, r;

11 maxv, add;
} t[8 * NJ;

void pushdown(1ll p) {
node &root = t[p], &l = t[p << 1], &nr = t[p << 1 | 1];
if(root.add) {
nl.add += root.add, nl.maxv += root.add;
nr.add += root.add, nr.maxv += root.add;
root.add = 09;

void pushup(ll p) {
t[p].maxv = max(t[p << 1].maxv, t[p << 1 | 1].maxv);

void modify(1l p, 11 1, 11 r, 11 c) {
if(t[p].1 >= 1 && t[p].r <=r) {
t[p].maxv += c;
t[p].add += c;
return;
}
pushdown(p);
11 mid = t[p].1 + t[p].r >> 1;
if(1l <= mid) modify(p << 1, 1, r, c);
if(r > mid) modify(p << 1 | 1, 1, r, c);
pushup(p);

void build(1l p, 11 1, 11 r) {

& WHR A BT LA S8 An
x < rhs.x; }
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AR LEH

if(l ==r) {
tlp] = {1, r, 0, 0};
return;

}

t[p].1 = 1, t[p].r = r;

11 mid =1 + r >> 1;

build(p << 1, 1, mid);

build(p << 1 | 1, mid + 1, r);
//pushup(p);// W22 @ TR pushup()

main() {

11 T;

scanf("%11d", &T);

while( T -- ) {
memset(line, 0, sizeof(line));
memset(b, 0, sizeof(b));
memset(t, 0, sizeof(t));

scanf("%11d%11d%11d", &n, &w, &h);
for (11 i =1, j =0; 1i<=n; i++) {
11 x, y, 1;
scanf("%11d%11d%11d", &x, &y, &l);
line[i] = {x, y, ¥y + h - 1, 1};
line[i +n] = {x+w -1, y, y+h -1, -1};

b[ ++ j] = y;

b[ ++ j1 =y +h - 1;
}
n <<= 1;

sort(b + 1, b + 1 + n);
m = unique(b + 1, b + 1 + n) - b - 1;//unique =% end() *# X%
sort(line + 1, line + 1 + n);

for (11 i = 1; i <= n; i++) {
line[i].yl = lower_bound(b + 1, b + m + 1, line[i].yl) - b - 1;
line[i].y2 = lower_bound(b + 1, b + m + 1, line[i].y2) - b - 1;
}
build(1, 1, m - 1);

11 res = 0;

for (11 i = 1; i <= n; i++) {
modify(1l, line[i].y1, line[i].y2, line[i].c);
res = max(res, t[1].maxv);

}

printf("%d\n", res);
}
return 0;
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2.6 HAIFFAMLEN

//Luogu 3824 kth-number

#include <bits/stdc++.h>

using namespace std;

const int N = 2e5 + 10, M = (N << 2) + 17 * N;

struct node {

int 1, r;
int cnt;

} tIM];

int

idx, a[N];

vector<int> num;

int find(int x) { return lower_bound(num.begin(), num.end(), x) - num.begin(); }

int

int

int

int

int

insert(int now, int 1, int r, int x) {
int p = ++ idx;
tlp] = tlnow];
if (1 ==r) {
t[p].cnt ++ ;
return p;
}
int mid = 1 + r >> 1;
if(x <= mid) t[p].1l = insert(t[now].l, 1, mid, x);
else t[p].r = insert(t[now].r, mid + 1, r, x);
t[p].cnt = t[t[p].1].cnt + t[t[p].r].cnt;

return p;

build(int 1, int r) {

int p = ++ idx;

if (1 == r) return p;

int mid =1 + r >> 1;

t[p].1 = build(l, mid), t[p].r = build(mid + 1, r);
return p;

query(int x, int y, int 1, int r, int k) {

if(l == r) return 1;

int cnt = t[t[y].1].cnt - t[t[x].1].cnt;

int mid =1 + r >> 1;

if(k <= cnt) return query(t[x].1, t[y].1, 1, mid, k);
else return query(t[x].r, t[y].r, mid + 1, r, k - cnt);

n, m, root[N];

main() {
scanf("%d%d", &n, &m);
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for (int 1 = 1; i <=n; i ++ ) {
scanf("%d", &a[i]);
num.push_back(a[i]);

sort(num.begin(), num.end());
num.erase(unique(num.begin(), num.end()), num.end());

root[@0] = build(@, num.size() - 1);

for (int i = 1; i <=n; i ++ )
insert(root[i - 1], 0, num.size() - 1, find(a[i]));
while (m -- ) {
int 1, r, k;
scanf("%d%d%d", &1, &r, &k);
printf("%d\n", num[query(root[l - 1], root[r], @, num.size() - 1, k)]);

// http://o0j.daimayuan.top/course/10/problem/464

// TEhE N KeE4 (A} =347 Q KiFle]l [Li,R1] XA FFAAT Hi BITTE M.
//EERBIAE S T IR B 9 X A B Bk

#include <bits/stdc++.h>

using namespace std;

const int N = 1le5 + 10;

int n, g, L[N], R[N], idx, H[N], rt[N], a[N];

vector<int> alls;

struct node {
int 1, r, cnt;
} t[N * 75];

int insert(int now, int 1, int r, int x) {
int p = ++idx;
tlp] = t[now];
if(l ==r) {
t[p].cnt++;
return p;
}
int mid =1 + r >> 1;
if(x <= mid) t[p].1 = insert(t[now].1l, 1, mid, x);

23

24

25

26

27
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else t[p].r = insert(t[now].r, mid + 1, r, x);
t[p].cnt = t[t[p].1].cnt + t[t[p].r].cnt;

query(int version, int 1, int r, int h) {
return t[version].cnt;
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int find(int x) { return lower_bound(alls.begin(), alls.end(), x) - alls.begin(); }

AR LEH

if(r <= h) return t[version].cnt;

int mid =1 + r >> 1, res = 0;

res += query(t[version].1l, 1, mid, h);

if(h > mid) res += query(t[version].r, mid + 1, r, h);
return res;

build(int 1, int r) {

int p = ++ idx;

if (1 == r) return p;

int mid =1 + r >> 1;

t[p].1 = build(l, mid), t[p].r = build(mid + 1, r);
return p;

void init() {

int

idx = 9;

memset(rt, 0, sizeof rt);
alls.clear();

memset(t, ©, sizeof t);

main() {
int T; scanf("%d", &T);
while(T --) {
init();
scanf("%d%d", &n, &q);
for (int 1 = 1; i <= n; i ++) {
scanf("%d", &a[i]);
alls.push_back(a[i]);
}

J/BERREELME, EATHAE h B EdE, sf Hi fim ) alls

for (int 1 = 1; i <= q; 1 ++) {
scanf("%d%d%d", &L[i], &R[i], &H[i]);
alls.push_back(H[i]);

}
sort(alls.begin(), alls.end());

alls.erase(unique(alls.begin(), alls.end()), alls.end());

//rt[e] = build(0, alls.size() - 1);
for (int 1 = 1; i <= q; i ++) H[i]

find(H[i]);
find(a[i]);

for (int 1 = 1; i <= n; i ++) a[i]

for (int 1 = 1; i <= n; i ++)

rt[i] = insert(rt[i - 1], 0, alls.size() - 1, a[i]);
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for (int 1 = 1; 1 <= q; i++) {

printf("%d ", query(rt[R[i]], ©, alls.size() - 1, H[i])
- query(rt[L[i] - 1], @, alls.size() - 1, H[i]));

}
puts("");
}
return 0;

2.7 ZEREH

int merge(int p, int g, int 1, int r) {

if(!p || !q) return p + qg;

if(l ==r) {
J/EPEA, —E t[p].val += t[q].val %
// t[p].val.first += t[q].val.first;
return p;

}

int mid = 1 + r >> 1;

t[p].1 = merge(t[p].1l, t[q].1l, 1, mid);

t[p].r = merge(t[p].r, t[q]l.r, mid + 1, r);

// pushup();

// tlp].val = max(t[t[p].Ll].val, t[t[p].r].val);

return p;

}

// codeforces600E
#include <bits/stdc++.h>

using namespace std;
using 11 = long long;

namespace SegTree {

struct Info {
11 cnt, ans; // FEAH, HEg S
Info(1ll v = 9, 11 x = @) : cnt(v), ans(x) {}
¥

Info operator+(const Info& a, const Info& b) {
if(a.cnt > b.cnt) {
return a;
} else if(a.cnt < b.cnt) {
return b;
} else {
return Info(a.cnt, a.ans + b.ans);

29
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22 Info merge(const Info &a, const Info &b) {
25 return a + b;

%}

27

28 struct Node {

29 Node *1,*r;

30 Info val;

31 Node() : 1(nullptr), r(nullptr), val() {}
2 };

33

3¢ void pull(Node *&p) {

35 p->val = merge(p->1 == nullptr ? Info() : p->1->val, p->r == nullptr ? Info() :
— p->r->val);

T

37

s // query(t, 0, n, query_left, query right)

39 Info query(Node *t, int 1, int r, int le, int ri) { // [le, ri)

20 // L r

a1 // O0OXXXXX000

42 // LRLRLR

43 // XX00X00XXO0

44 if(ri <=1 || r <= le || t == nullptr) {
5 return Info();

46 }

a7 if(le <=1 &% r <= ri) {

48 return t->val;

49 }

se intm=(1+r)/ 2;

51 return merge(query(t->1, 1, m, le, ri), query(t->r, m, r, le, ri));
2}

53

s void modify(Node *&t, int 1, int r, int x, int v) { // [L,r)
55 if(t == nullptr) {

s6 t = new Node();

57 }

58 if(r - 1 == 1) {

59 t->val.cnt += v;

60 t->val.ans = x;

61 return;

62 }

63

64 intm=(1+r)/ 2;

65 if(x < m) {

66 modify(t->1, 1, m, x, v);

67 }else {

68 modify(t->r, m, r, x, v);

69 }

70 pull(t);

71}
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72

73 Node* merge(Node *&t, Node *&o, int 1, int r) { // [L,r)

74 if(t == nullptr) return o;

75 if(o == nullptr) return t;

76

77 Node *p = new Node();

78

79 if(r - 1 == 1) {

80 p->val = t->val;

81 p->val.cnt += o->val.cnt;
82 return p;

83 }

84

85 intm=(1+r)/ 2;

86 p->1 = merge(t->1, o->1, 1, m);
87 p->r = merge(t->r, o->r, m, r);
88 pull(p);

89 return p;

% }

91

2}

93
94 using namespace SegTree;
95
96
97

9¢ int main() {

99 ios::sync_with_stdio(false);

100 cin.tie(nullptr);

101

102 int n;

103 cin >> n;

104 vector<int> col(n);

105 for (int 1 = 9; i < n; 1 ++) {

106 cin >> col[i];

107 }

108 vector<Node *> rt(n + 1, nullptr);
109 vector<vector<int>> G(n);

110 for (int i = 1; i < n; i ++) {

111 int u, v;

112 cin >> u >> v;

113 u--, Vv--3

114 G[u].push_back(v);

115 G[v].push_back(u);

116 }

117 vector<ll> ans(n);

118 function<void(int, int)> dfs = [&](int u, int fa) {
119 modify(rt[u], 1, n + 1, col[u], 1);

120 for (auto v:G[u]) {
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2 RAEHEM 32

if(v == fa) continue;
dfs(v, u);
rt[u] = merge(rt[u], rt[v], 1, n + 1);
}
ans[u] = rt[u]->val.ans;
}s
dfs(o, -1);
for (int 1 = 9; i < n; 1 ++) {
cout << ans[i] << " \n"[1 == n - 1];
}
return 0;

2.8 DSU on tree
ESGI EErE FR E A R o

O(n?) K7 :
1. AT, IR I
2. BHTHIEET ont B (B TCRMERER), PRS2 HAd 7 1 St
3. PR T RS, B EHT ST 5

it:
PATEBL, BT R — R A RTE S S ZHUE — N ELL, (3T
B i — IR T O E LI, AT RAE BRI A 2R 2 O(nlogn) .

g
1. #—Ik dfsHson 5%|&E LT
2. dfs W, SLEAETERILT, &E®HAE)LT

for (auto v:G[u]) {
if(v == fa || v == son[u]) continue;
dfs(v, u, false);

}

if(son[u] !'= -1) {
dfs(son[u], u, true);

}

3. calc HETA (u) DLERHFAERILT (£ calc FisHERK)

4. IR AFT AR HACRIE LT, HERET (FMFEE calc %€M, calc fAA—EM val
AJIETT )

// https://codeforces.com/problemset/problem/6606/E
// WHTEREE, ROH—MEeEEaT —4TH#,
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/) BEREBEREMFEEX N TFHEEHARLE S
/) R EREANFREFA R EZ A,

#include <bits/stdc++.h>

using namespace std;
using 11 = long long;

int main() {
ios::sync_with_stdio(false);
cin.tie(nullptr);
int n;
cin >> n;
vector<int> col(n);
vector<vector<int>> G(n);
for (int 1 = 9; i < n; 1 ++) {

cin >> col[i];

for (int 1 = 1; i < n; 1 ++) {
int u, v;
cin >> u >> v;
u--, v--;
G[u].push_back(v), G[v].push_back(u);
}
vector<int> sz(n), son(n, -1); // son[u] &= u HEILT
function<void(int, int)> dfsHson = [&](int u, int fa) {

sz[u] = 1;
for (auto v : G[u]) {
if(v == fa) continue;

dfsHson(v, u);
sz[u] += sz[v];
if(son[u] == -1 || sz[son[u]] < sz[v]) {

son[u] = v;

s
dfsHson(0, -1);

vector<1l> cnt(n + 1), ans(n);
11 mx = 0, sum = 0;
function<void(int, int, int, int)> calc = [&](int u, int fa, int val, int Hson) {
cnt[col[u]] += val;
if(cnt[col[u]] > mx) {
mx = cnt[col[u]];
sum = col[u];
} else if(cnt[col[u]] == mx) {

sum += colf[u];
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for (auto v:G[u]) {
if(v == fa || v == Hson) continue;
calc(v, u, val, Hson);

};

function<void(int, int, int)> dfs = [&](int u, int fa, bool isCurHSon) {
for (auto v:G[u]) {
if(v == fa || v == son[u]) continue;
dfs(v, u, false);

}

if(son[u] !'= -1) {
dfs(son[u], u, true);

}

calc(u, fa, 1, son[u]);

ans[u] = sum;

/) WmRERERERT ENEILTF, NWHRE
if(!isCurHSon) {

calc(u, fa, -1, -1);

sum = mx = 0;

}s
dfs(o, -1, false);

for (int 1 = 9; i < n; 1 ++) {
cout << ans[i] << " \n"[i1i == n - 1];
}

return 0;

2.9 wEEESY

#include<bits/stdc++.h>
#define pb push_back
using namespace std;

using 11 = long long;
const int N = 1e5 + 10;

struct node {
int 1, r;
11 add, sum;
} tIN << 2];
int n, m, w[N], nw[N];
vector<int> G[N];

int dep[N], top[N], son[N], dfn[N], sz[N], fa[N], cnt;
1177777777777 77777777777 &BASE /777777777 7/7777777777777
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void pushdown(int p) {

auto &rt = t[p], &nl = t[p << 1], &nr = t[p << 1 | 1];

if(rt.add) {

nl.add += rt.add, nl.sum += (11)(nl.r - nl.1 + 1) * rt.add;
nr.add += rt.add, nr.sum += (11)(nr.r - nr.l + 1) * rt.add;

rt.add = 0;

void pushup(int p) { t[p].sum = t[p << 1].sum + t[p << 1 | 1].sum; }

void build(int p, int 1, int r) {

tlp]l = {1, r, 0, nw[1]};
if(1l == r) return;

int mid =1 + r >> 1;

build(p << 1, 1, mid);

build(p << 1 | 1, mid + 1, r);
pushup(p);

11 query(int p, int 1, int r) {

if(t[p].1 >= 1 && t[p].r <= r) return t[p].sum;

pushdown(p);

int mid = t[p].1 + t[p].r >> 1;

11 res = 09;

if(1l <= mid) res += query(p << 1, 1, r);
if(r > mid) res += query(p << 1 | 1, 1 ,r);
//pushup(p);

return res;

void modify(int p, int 1, int r, int k) {
if(t[p].1 >= 1 && t[p].r <=r) {
t[p].sum += (t[p].r - t[p].1 + 1) * k;
t[p].add += k;

return;

pushdown(p);

int mid = t[p].1 + t[p].r >> 1;

if(1l <= mid) modify(p << 1, 1, r, k);
if(r > mid) modify(p << 1 | 1, 1 , r, k);
pushup(p);

I1117777777777777777777/8E1358577/77/777777777777777777777
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//%—k dfs % sz, E)LF, dep[], fa[]
void dfsi(int u, int fath) {

sz[u] = 1, dep[u] = dep[fath] + 1, fa[u] = fath;

for(int v:G[u]) {
if(v == fath) continue;
dfsi(v, u);
sz[u] += sz[v];

if(sz[son[u]] < sz[v]) son[u] = v;

}
// %K dfs, % dfs )7,
void dfs2(int u, int tp) {
dfn[u] = ++cnt, nw[cnt] = w[u], top[u] = tp;
if(!son[u]) return;
dfs2(son[u], tp); //#JAEILT
J/EFRILTFEER
for(int v:G[u]) {
if(v == fa[u] || v == son[u]) continue;
dfs2(v, v);

void modify_path(int u, int v, int k) {

while(top[u] != top[v]) {
if(dep[top[u]] < dep[top[v]]) swap(u, V);
modify(1, dfn[top[u]], dfn[u], k);
u = fa[top[u]];

}

if(dep[u] < dep[v]) swap(u, v);

modify(1, dfn[v], dfn[u], k);

void modify_tree(int u, int k) {
modify(1, dfn[u], dfn[u] + sz[u] - 1, k);

11 query_tree(int u) {
return query(1l, dfn[u], dfn[u] + sz[u] - 1);

11 query_path(int u, int v) {

11 res = 09;

while(top[u] != top[v]) {
if(dep[top[u]] < dep[top[v]]) swap(u, V);
res += query(l, dfn[top[u]], dfn[ul);
u = fa[top[ull;

}

if(dep[u] < dep[v]) swap(u, v);

res += query(1l, dfn[v], dfn[ul);
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return res;

L111771777777777 777777777777 7777777777777777777777/777777777

int main() {

scanf("%d", &n);
for(int i = 1; i <= n; i ++) scanf("%d", &w[i]);
for(int i = 1; i < n; i ++) {
int u, v; scanf("%d%d", &u, &v);
G[ul.pb(v), G[v].pb(u);
}
dfsi(1, 9);
dfs2(1, 1);

build(1, 1, n);

scanf("%d", &m);
while(m -- ) {
int op, u, v, k;
scanf("%d%d", &op, &u);
if(op == 1) {
scanf("%d%d", &v, &k);
modify path(u, v, k);
}
else if(op == 2) {
scanf("%d", &k);
modify_tree(u, k);
}
else if(op == 3) {
scanf("%d", &v);
printf("%11d\n", query_path(u, v));
}
else
printf("%11d\n", query_tree(u));
}

return 9;

2.10 IMZEF)

// FRFH
// RERE BZFEEN (REZREHEXAR) WHEA
struct ODT {
const int n;
map<int, int> mp;
ODT(int n) : n(n) { mp[-1] = @; // mp[@] = 6, mp[n] = -1;}
void split(int x) {
auto it = prev(mp.upper_bound(x)); //#Z Zw A/ N T%5T x WX
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mp[x] = it->second; //W LHTHIXE, A — DX fE T EVE S S e A KA.
}
void assign(int 1, int r, int v) { // F&E, X EWH r ZXEAHHEE +1
split(1);
split(r);
auto it = mp.find(1l);
while (it->first != r) {
// — AT LR B 5T AR A K B HT R (R
// EEE—/ update ## query
// 5 assign —E, BEET TR 1t = next(it);
it = mp.erase(it);
}
mp[1] = v;

1

2.11 C€DQ 4i&

/) =R FER
#include <bits/stdc++.h>

using namespace std;

struct Node {
int x, y, z, cnt, ans; // cnt: 2LirEA {x, y, z} HAEHNE
bool operator<(const Node&rhs) const {
if(x != rhs.x) return x < rhs.x;
if(y !'= rhs.y) return y < rhs.y;
return z < rhs.z;

1

struct fenwick {
const int n;
vector<int> c;
fenwick(int n) : n(n), c(n + 1) {}
void add(int pos, int val) {
for (int i = pos; i <= n; i+=1 & -i) {
c[i] += val;

}
int sum(int pos) {
int res{0};
for (int 1 = pos; i; 1 -= 1 & -1i) {
res += c[i];
}

return res;

1
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int main() {

ios::sync_with_stdio(false);

cin.tie(nullptr);

int n, k;
cin >> n >> k;

map<array<int, 3>, int> s;

fenwick fen(k);

for (int 1 = 9; i < n; 1 ++) {

int x, y, 2z

B

cin >> x >> y >> z;
s[{x, y, z}]++;

}

vector<Node> node(s.size());

int m = 9;
for (auto it =

auto [x, y, z]

auto cnt =

s.begin(); it != s.end(); ++it) {

= it->first;

it->second;

node[m++] = {x, y, z, cnt, 0};

}

assert(m == (int)s.size());

sort(node.begin(), node.end());
// for (int 1 = 0; 1 < m; 1 ++) {

// auto [x, y, z, cnt, _] = node[i];
// cout << "x = " << x << " Ty << "< Z <<
/7 }

'

<< cnt <<

auto cmp2nd = [&](const Node &lhs, const Node &rhs) -> bool {
if(lhs.y != rhs.y) return lhs.y < rhs.y;

return lhs.z < rhs.z;

};

function<void(int, int)> cdq = [&](int 1, int r) {
if(r - 1 ==1) {

return;

}

intm=(1+r)/ 2;
cdq(l, m); cdq(m, r);

sort(node.begin() + 1, node.begin() + m, cmp2nd);

sort(node.begin() + m, node.begin() + r, cmp2nd);

int j = 1;

for (int 1 =m; i < r; 1 ++) {

while(j < m && node[i].y >= node[j].y) {
/7 S BB R B R R (R
// —#k Node W44 —AAFR
// BHEE: if(node[j].type == 0) {

Vs
//}

fen.add(node[j].z, node[j].cnt)

[

]

\n';
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// Gt ZER G RFENERRERT
/7 BRI B b R AR
fen.add(node[j].z, node[j].cnt);
J++s
}
node[i].ans += fen.sum(node[i].z);
}
/] ERAREREMRHEA
for (int t = 1; t < j; t ++) {
fen.add(node[t].z, -node[t].cnt);

s
cdq(e, m);

vector<int> res(n);
for (int 1 = 9; i < m; 1 ++) {
res[node[i].ans + node[i].cnt - 1] += node[i].cnt;
}
for (int i = 0; 1 < n; 1 ++) {
cout << res[i] << "\n';

return 0;

2.12 HpBA
RS HENIE

#include <bits/stdc++.h>

#define endl "\n'

#define rep(i, a, b) for (int i = (a); 1 <= (b); 1 ++)
using namespace std;

const int N = 5e4 + 10, M = 2e5 + 10, S = le6 + 10; //fEH
int n, A[N], ans[M], cnt[S], m, sq, cur;

struct query {
int 1, r, id;
bool operator<(const query &rhs) const { //# &1 47
if (1 / sq !'= rhs.1 / sq)
return 1 < rhs.1;
if (1 / sq & 1)
return r < rhs.r;
return r > rhs.r;
}
} alM];

void add(int p) {
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int main() {

intl =1, r
rep(i, 1, m) {

rep(i, 1, m)

void del(int p) {

cnt[A[p]]--;
if(cnt[A[p]] == ©) cur--;

cin.tie(nullptr);

sq = sqrt(n);
rep(i, 1, n) cin >> A[i];

rep(i, 1, m) {
int 1, r;
cin >> 1 >> r;
afi] = {1, r, 1};

>
<
<
>

ans[q[i].id] =

if(cnt[A[p]] == 9) cur++;
cnt[A[p]]++;

ios::sync_with_stdio(false);

sort(q + 1, q + 1 + m);

1) add(--1);
r) add(++r);
1) del(l++);
r) del(r--);

cur;

<< ans[i] <«

HABSEBA :

#include <bits/stdc++.h>

#define endl "\n'

#define rep(i, a, b) for (int 1 = (a); 1 <= (b); 1 ++)
using namespace std;

const int N = 134000, S = le6 + 10; //1i

int n, m, mg, mc, len, cur;
int w[N], cnt[S], ans[N];
struct Query {

int id, 1, r, tim;

Ya[NT;
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struct Modify {
int pos, val;

} cINI;

int get(int x) {
return x / len;

bool cmp(const Query& a, const Query& b) {
int al = get(a.l), ar = get(a.r);
int bl = get(b.1l), br = get(b.r);
if (al != bl) return al < bl;
if (ar != br) return ar < br;
return a.tim < b.tim;

void add(int val) {
if(cnt[val] == 0) cur++;
cnt[vall++;

void del(int val) {
cnt[val]--;
if(cnt[val] == 0) cur--;

}

int main() {
ios::sync_with_stdio(false);
cin.tie(nullptr);
cin >> n >> m;

rep(i, 1, n) cin >> w[i];

rep (i, 1, m) {
char op[2];
int a, b;
cin >> op >> a >> b;
if (*op == 'Q") mq ++, q[mq] = {mq, a, b,
else c[ ++ mc] = {a, b};

len = cbrt((double)n * max(1 , mc)) + 1;
sort(q + 1, q + mq + 1, cmp);

intl =1, r=0, t =0;

rep(i, 1, mq) {
auto [id, ql, gr, qt] = q[i];

while (1 < gl) del(w[1l++]);
while (1 > ql) add(w[--1]);
while (r < gr) add(w[++r]);
while (r > qr) del(w[r--]);

mc};
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while (t < qt) {

t ++

if (gl <= c[t].pos && qr >= c[t].pos) {

del(w[c[t].pos]);
add(c[t].val);

}

swap(w[c[t].pos], c[t].val);

}
while (t > qt) {

if (ql <= c[t].pos && qr >= c[t].pos) {

del(w[c[t].pos]);
add(c[t].val);

}
swap(w[c[t].pos], c[t].val);
t--;
}
ans[id] = cur;
}
rep(i, 1, mq) printf("%d\n", ans[i]);
return 0;
}
3
3.1 spfa

#include <bits/stdc++.h>
#define pb push_back
using namespace std;

const int N = 1e5 + 10, inf = Ox3f3f3f3f;
struct node{int v, w;};

vector<node> G[N];

int dis[N], n, m;

bool inq[N];

void spfa() {
memset(dis, 0x3f, sizeof dis);
dis[1] = ©;
inq[1] = 1;
queue<int> q;
q.push(1);
while(qg.size()) {
int u = q.front(); q.pop();

ing[u] = ©;
for(auto [v, w]:G[u]) {
if(dis[v] > w + dis[u]) {
dis[v] = dis[u] + w;

B2
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if(!inq[v])
g.push(v), ing[v] = true;

int main() {
cin >> n >> m;
while(m -- ) {
int u, v, w;
cin >> u >> v >> w;
G[ul.pb({v, w});

}

spfa();

if(dis[n] == inf) cout << "impossible";
else cout << dis[n];

return 0;

3.2 dijkstra

i dijkstra:

//acwing 849

#include <bits/stdc++.h>

using namespace std;

const int N = 510, inf = Ox3f3f3f3f;
int dis[N], G[N][N], n, m;

bool vis[N];

void dij() {
memset(dis, Ox3f, sizeof dis);
dis[1] = ©;
for (int j =0; j < n; j ++) {
int minv = inf, pos = -1;
for(int i = 1; i <= n; i ++)
if (!vis[i] && minv > dis[i])

minv = dis[i], pos = 1i;

if(pos == -1) break;
vis[pos] = 1;
for (int i = 1; 1 <= n; 1 ++)
if(!vis[i] && dis[pos] + G[pos][i] < dis[i])
dis[i] = dis[pos] + G[pos][i];

int main() {
cin >> n >> m;
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scanf("%d %d", &n, &m);

memset (G, 0x3f, sizeof(G));

while(m --) {
int u, v, w; scanf("%d %d %d", &u, &v, &w);
G[ul[v] = min(G[u][v], w);

dij();

cout << (dis[n] == inf ? -1 : dis[n]);

return 0;

% E dijkstra:

#include <bits/stdc++.h>
#define pb push_back
#define fi first

#define se second

using namespace std;

using P = pair<int, int>;

const int N = 151000, inf = Ox3f3f3f3f;
struct node{int v, w;};

vector<node> G[N];

int dis[N], n, m;

bool vis[N];

void dij() {
memset(dis, Ox3f, sizeof dis);
priority_queue<P, vector<P>, greater<P>> q;
q.push({0, 1});
while(qg.size()) {
auto t = q.top(); q.pop();
int u = t.se, d = t.fi;
if(vis[u]) continue;
vis[u] = true;
for(auto [v, w] : G[u]) {
if(dis[v] > d + w) {
dis[v] = d + w;
q.push({dis[v], v});

int main() {
ios::sync_with_stdio(false);
cin >> n >> m;
while(m -- ) {
int u, v, w; cin >> u >> v >> w;
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G[u].pb({v, w});
}
dij();
cout << (dis[n] == inf ? -1 : dis[n]);

return 0;

3.3 mE/INERBY

// Rruskal
using 11 = long long;
struct Edge {

1

int u, v, w;

bool operator<(const edge &rhs) const { return w < rhs.w; }

struct DSU {

1

int

int n;

vector<int> f;

DSU(int n): n(n), f(n) { iota(f.begin(), f.end(), ©); }

int find(int x) { return x == f[x] ? x
bool merge(int u, int v) {

u = find(u), v = find(v);

if(u == v) return false;

f[v] = u;

return true;

kruskal() {
cin >> n >> m;
11 ans = 0;
vector<Edge> edge(m);
for (int i =0; 1 < m; i ++) {
int u, v, w;
cin >> u >> v >> w;
u--, v--;
edge[i] = {u, v, w};
}
sort(edge.begin(), edge.end());
DSU dsu(n);
for (auto [u, v, w]: edge) {
if(dsu.merge(u, v)) {

ans += w;

}

return ans;

: f[x] = find(f[x]); }

46



a1

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

66

67

10

11

12

13

14

15

16

//prim

const int N = 510, inf = Ox3f3f3f3f;
int G[N][N], dis[N];

int n, m;

bool vis[N];

int prim() {
int res = 0;
memset(dis, 0x3f, sizeof dis);
dis[1] = @; //FafE#—&3EN mst £ 4
for(int j = 0; j < n; j ++) {
int minv = inf, pos = -1;
for(int i = 1; i <= n; i +4+)
if(lvis[i] && dis[i] < minv)

pos = i, minv = dis[i];

if(pos == -1) return inf;
vis[pos] = true;
res += dis[pos];

for(int 1 = 1; i <= n; 1 ++)
if(!vis[i] && dis[i] > G[pos][i])
dis[i] = G[pos][il;
}

return res;

A, X TRAEEN MST H@, fJUFEEMAEH Boruvka Bi%. IATELE nlogn B nlog®n
N 7] A SR H AN I P d /NSRRI, T X AN AR — AT i A DA — s ek . s AR E
5, EHZEEKRE.

3.4 kruskal EIHt

//kruskal EH##f

/ /PR

J/AANEZ R TR BB R AU R/NME
/)= RANERMERANERZE N ERE L RAE
// = Kruskal EH# EHEZ A8 LCA BIALE.
//Lloji36

#include <bits/stdc++.h>

#define pb push_back

using namespace std;

const int N = 1010 << 1, M = 3e5 + 10;
int n, m, k, val[N];// kruskal 4 540
int idx; //EARET A5

struct Edge{
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int u, v, w;
bool operator<(const Edge &rhs) const { return w < rhs.w; }
yedges[M];

vector<int> G[N];

int p[N];
int find(int x) { return x == p[x] ? x : p[x] = find(p[x]); }

int dep[N], fa[N][21];

void bfs(int s) {
dep[@] = @, dep[s] = 1;
queue<int> q;
q.push(s);
while(q.size()) {
int u = q.front(); q.pop();
for(int v:G[u]) {
if(dep[v] > dep[u] + 1) {
dep[v] = dep[u] + 1;
q.push(v);
fa[v][e]
for (int i = 1; i <= 20; i ++)
fa[v][i] = fa[fa[v][i - 1]][i - 1];

u;

int lca(int a, int b) {
if(dep[a] < dep[b]) swap(a, b);
for (int k = 20; k >= 0; k --)
if(dep[fa[a][k]] >= dep[b])
a = fa[a][k];
if(a == b) return a;
for (int k = 20; k >= 0; k --)
if(fa[al[k] != fa[b][k])
a = fa[a][k], b = fa[b][k];
return fa[a][@9];

void build() {

idx = n;

int cnt = 0;

for (int 1 = 1; i <=m; i ++) {
int u = edges[i].u, v = edges[i].v, w = edges[i].w;
int fu = find(u), fv = find(v);
if(fu = fv) {

val[++idx] = w;
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G[idx].pb(fu), G[idx].pb(fv);
G[fu].pb(idx), G[fv].pb(idx);
p[fu]l = p[fv] = idx;

cnt++;

}
if(cnt >= n - 1) break;

int main() {
scanf("%d %d %d", &n, &m, &k);
for (int 1 = 1; i <=m; i ++) {
int u, v, w; scanf("%d %d %d", &u, &v, &w);
edges[i] = {u, v, w};
}

sort(edges + 1, edges + m + 1);
for (int 1 = 1; i <= (n << 1); 1 ++) p[i] =

build(); // kruskal =

memset(dep, Ox3f, sizeof dep);
bfs(idx); //bfs HIRT A —EZZEMMERE A

while(k -- ) {
int s, t;
scanf("%d %d", &s, &t);
if(find(s) != find(t)) puts("-1");
else
printf("%d\n", val[lca(s, t)]);
}

return 0;

3.5 “orETE

oy VL RE AT YA LR
1. WRBEDBIMSLIAN RS, BMEEAET 0 KU
2. HAMWAREES 1 FILACIOME

oy BlERNE TR SR BRARAE 2 D, SEBRDEFE A

konig EFH: P/ U A5 A A I R BAE T a EROR VU B 3B &5 i i 3

Bl KA gE: SR S FERW s 2 MR AUMEE. HRNET n— &RILERE. (n £
P D)

/* e EAE = E

bool vis[N];
int col[N], flag = 1, n, m;
void dfs(int u, int t) {
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if (visfu]) {
if (col[u] != t) flag = o;
return;

}

visfu] = 1; col[u] = t;

for (int v : glu]) {
dfs(v, t ~ 1);

}
bool isbit() {//%% %= 4
for (int u = 1; u <= n; u++) {
if (!vis[u]) dfs(u, ©);
}
return flag;
}
*/
int GINJ[M]; // ZF# n, HFE m
int n, m, p[M], vis[M];
bool match(int u) {
for (int i = 1; i <=m; i ++) {
if(G[u][i] && !vis[i]) {
vis[i] = true;
if(p[i] == @ || match(p[i])) {
p[i] = u; return true;

}

return false;
}
int main() {
/x BZE x/
int res = 09;
for (int 1 = 1; i <=n; 1 ++) {
memset(vis, 0, sizeof vis);
if(match(i)) res++;
}

return 0;

3.6 BEBTEMRS
WA B O(m+n), RIFME scc_ent RIZFTEIRINT

#include<bits/stdc++.h>
#define pb push_back
using namespace std;

const int N = 1le4 + 10;
vector<int> G[N], G2[N];
stack<int> s;
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int n, m, tim, scc_cnt;

int w[N], dfn[N], low[N], id[N];
int dist[N], ind[N], W[N];

bool ins[N];

void tarjan(int u) {
low[u] = dfn[u] = ++tim;
s.push(u); ins[u] = true;
for(int v:G[u]) {
if(!dfn[v]) {
tarjan(v);
low[u] = min(low[v], low[u]);
}
else if(ins[v])
low[u] = min(low[u], dfn[v]);
}
if(low[u] == dfn[u]) {
int y; ++scc_cnt;
do {
y = s.top(); s.pop();
ins[y] = false;
id[y] = scc_cnt;
W[scc_cnt] += wly];
} while (y != u);

int sol() {
queue<int> q;
for (int i = 1; i <= scc_cnt; i++)
if(!ind[i]) {
q.push(i);
dist[i] = W[i];

while(q.size()) {
//cout << "cnt =

<< ++cnt << endl;
int u = q.front(); q.pop();
for (int v:G2[u]) {

o J/UFEAE, dist[v] WEFHEHLEAL, B dist[v] = dist[u] + W[v]; BTl &
dist[v] = max(dist[v], dist[u] + W[v]);
if(--ind[v] == 0)

q.push(v);

int ans = 0;
for (int 1 = 1; i <= scc_cnt; i++)
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ans = max(ans, dist[i]);
return ans;

int main() {
ios::sync_with_stdio(false), cin.tie(9);
cin >> n >> m;

for (int 1 = 1; i <= n; 1 ++) cin >> w[i];
while(m--) {
int u, v;

cin >> u >> v;
G[u].pb(v);
}
for (int 1 = 1; i <= n; 1 ++)
if(!dfn[i])
tarjan(i);
// %
for (int u = 1; u <= n; ++u) {
for(int v : G[u]) {
if(id[v] != id[u]) {
G2[id[u]].pb(id[Vv]);
ind[id[v]]++;
//printf("ind[%d] = %d\n",id[v], ind[id[v]]);

}

// debug

// for (int 1 = 1; 1 <= scc_cnt; 1i++)

// printf("ind[%d] = %d\n",1, ind[1]);
// for (int 1 = 1; 1 <= scc_cnt; 1i++)

VA

// printf("%d->", 1);
// for (int v:G2[1i])

// printf("%d ", v);
// puts("");

/7 }

printf("%d\n", sol());
return 0;

3.7 ZRENERTE
My

/AR ERE, (T i e R R W 2

// 1. REFAWN, KREMBRZEHFL, RTHENMERRHAE - RERTHE,
/) REARERTEREA AR, BEFAMER, RHENEXE—TE RN,
// 2 ATHREEA 1 BT RBAE, BA T R, 12 ont.

i

#*

i

E

A 1.
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// 3. MEDEN ERI (cnt+1)/2 43, et ERLD G %

#include <bits/stdc++.h>

#define pb push_back

using namespace std;

const int N = 5010;

int n, m;

vector<int> G[N];

int low[N], dfn[N], id[N], deg[N];
int dcc_cnt, tim, stk[N], top;
vector<int> bridge[N];

void tarjan(int u, int fa) {
low[u] = dfn[u] = ++tim;
stk[++top] = u;

for (int i = 0; i < G[u].size(); i++) {
int v = G[u][i];
if(!dfn[v]) {
tarjan(v, u);
low[u] = min(low[v], low[u]);
if(dfn[u] < low[v])
bridge[u].pb(v), bridge[v].pb(u);
}
else if(fa != v)
low[u] = min(low[u], dfn[v]);

}
if (dfn[u] == low[u]) {
int y;
++dcc_cnt;
do {
y = stk[top--];
id[y] = dcc_cnt;
} while (u !'=y);
}

int main() {
ios::sync_with_stdio(false), cin.tie(©);
cin >> n >> m;
while(m -- ) {
int u, v;
cin >> u >> v;
G[u].pb(v), G[v].pb(u);
}
tarjan(1, -1);
for (int u = 1; u <= n; u++)
deg[id[u]] += bridge[u].size();
int cnt = ©;
for (int 1 = 1; i <= dcc_cnt; i ++)

s, FTUED R Z (cnt+1)/2,
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if(deg[i] == 1)

cnt++;
cout << (cnt + 1) / 2;
return 0;

Fl i

#include<bits/stdc++.h>
#define pb push_back
using namespace std;
const int N = 2e4 + 10;
vector<int> G[N], cut;

int
int

tim, n, m, root;
dfn[N], low[N];

void tarjan(int u) {

int

low[u] = dfn[u] = ++tim;
int tot = 0;
for(int v:G[u]) {
if(!dfn[v]) {
tarjan(v);
low[u] = min(low[u], low[Vv]);
if (dfn[u] <= low[v])

tot++;
}
else
low[u] = min(low[u], dfn[v]);

¥
if ( (tot > @ & u != root) || (tot > 1 & u == root))

cut.pb(u);
main() {

cin >> n >> m;

while(m --) {
int u, v;
cin >> u >> v;
G[u].pb(v), G[v].pb(u);

for (root = 1; root <= n; root ++)
if(!dfn[root])
tarjan(root);

// T sort, ELIF—> bool cut[N];
sort(cut.begin(), cut.end());
printf("%d\n", cut.size());
for(int v : cut)

printf("%d ", v);
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return 0;

3.8 1lca

/*

K lea: 1. ¥ 2. #t¥#|  3.tarjan B4

Lca R4

1. MEREZMWER (249 —A dist 4, dis[u] + dis[v] - 2 * dis[lca(u, v)])
2. WERARERGHER (WRAFBEMER, Mr—RA—FBEW LCA £47—FBEL)

*/

#include <bits/stdc++.h>

#define pb push_back

using namespace std;

const int N = led4 + 10;

struct node{int v, w;};
vector<node> G[N];

int fa[N][19], dep[N], dis[N];
int n, m;

void bfs(int s) {
memset(dep, 0x3f, sizeof dep);
dep[@] 9, dep[s] = 1;
dis[s] 0;
queue<int> q; q.push(s);
while(qg.size()) {
int u = q.front(); q.pop();
for(auto [v, w] : G[ul) {
if(dep[v] > dep[u] + 1) {
dis[v] = dis[u] + w;

dep[v] = dep[u] + 1;
fa[v][@] = u;
q.push(v);
for(int i = 1; i < 19; ++1i)
fa[v][i] = fa[fa[v][i - 1]][1i - 1];

int lca(int a, int b) {
if(dep[a] < dep[b]) swap(a, b);
for(int k = 18; k >= 0; k--)
if(dep[fa[a][k]] >= dep[b])
a = fa[a][k];
if(a == b) return a;
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for(int k = 18; k >= 9; --k)
if(fa[a][k] != fa[b][k])

a = fa[a][k], b = fa[b][k];

return fa[a][@];

3.9 2-SAT

#include <bits/stdc++.h>
using namespace std;
// 0(n +m)
struct TwoSat {
int n;
vector<vector<int>> e;

vector<bool> ans;

TwoSat(int n) : n(n), e(2 * n), ans(n) {}

void addClause(int u, bool f, int v, bool g) {
e[2 * u + !f].push_back(2 * v + g);
e[2 * v + !g].push_back(2 * u + f);

}
bool satisfiable() {

vector<int> id(2 * n, -1), dfn(2 * n, -1), low(2 * n, -1);

vector<int> stk;
int now = 9, cnt = 0;

function<void(int)> tarjan

stk.push_back(u);

dfn[u] = low[u] = now++;
for (auto v : e[u]) {
if (dfn[v] == -1) {

tarjan(v);

low[u] = min(low[u], low[Vv]);

} else if (id[v

low[u] = min(low[u], dfn[v]);

}

}

if (dfn[u] == low[u]) {
int v;
do {

v = stk.back();
stk.pop_back();

id[v] = cnt;
} while (v != u);
++cnt;
}
¥

for (int i = 0; i < 2 * n; ++i) if (dfn[i] == -1)
for (int i = 9; i < n; ++i) {
if (id[2 * i] == id[2 * i + 1]) return false;
ans[i] = id[2 * i] > id[2 * i + 1];

[&](int u) {

tarjan(i);
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return true;

}

vector<bool> answer() { return ans; }

1

int main() {

ios::sync_with_stdio(false);

cin.tie(nullptr);

int n, m;

cin >> n >> m;

TwoSat ts(n);

for (int 1 =9; i < m; 1 ++) {
int u, f, v, g;
cin >> u >> f >> v >> g;
u--, v--;
ts.addClause(u, f, v, g);

}

if(ts.satisfiable()) {
cout << "POSSIBLE" << '\n';
for (int 1 =0; i < n; 1 ++) {

cout << ts.ans[i] << " \n"[i == n - 1];
}
} else {
cout << "IMPOSSIBLE" << '\n';
}
return 0;

3.10 EIfH

SEARROTERT: B T8 G . B H P L “ A

i

A

57

B AR

FIL7, N A RGERE N SRXUAE BRI, AT AE B SE TR R A R A
FAUE BT BLHE i B A AR AR . DU RRIEAR (FAR) BEAR (1) A

//EARBERKEERRAK

#include <bits/stdc++.h>

#define endl "\n'

#define pb push_back

using 11 = long long;

using namespace std;

const int N = 1e6 + 10, M = N << 1;

int h[N], e[M], w[M], ne[M], idx;

11 s[N], sum[M], d[M]; //# b8yl fndni,
bool ins[N], vis[N];

int n, cir[M], ed[M], cnt; //cnt I E94-%k
int fa[N], fw[N]; //%0% 5, REME

int q[M];

11 ans;

I KRR ST P YRR A
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void add(int a, int b, int c) {

e[idx] = b, ne[idx] = h[a], w[idx] = c, h[a]

//RE + & I
void dfs(int u, int from) {

vis[u] = ins[u] = true;
for (int i = h[ul; ~i; i = ne[i]) {

/R R WA MBI, AR B kAT, A AR R K W BB R R

if (i == (from ~ 1)) continue;
int v = e[i];
fa[v] = u, fw[v] = w[i];
if (!vis[v]) dfs(v, i);
else if(ins[v]) {
cnt++;
ed[cnt] = ed[cnt - 1];
11 tot = w[i];
for (int k = u; k != v; k = fa[k])
s[k] = tot;
tot += fw[k];
cir[++ ed[cnt]] = k;
}

s[v] = tot, cir[++ ed[cnt]] = v;

}

ins[u] = false;

// KUL u AR EHTFHORARE
11 dfs_d(int u) {

int

vis[u] = true;
11 do =0, d1 = 0; //SAHEE, KKEE
for (int i = h[u]; ~i; i = ne[i]) {
int v = e[i];
if (vis[v]) continue;
11 d = dfs_d(v) + w[i];
if (d >= d@) d1 = do, do = d;
else if (d > d1) d1 = d;
}
ans = max(ans, dl1 + do);
return do;

main() {

ios::sync_with_stdio(false), cin.tie(©);
cin >> n;

memset(h, -1, sizeof h);

for (int u = 1; u <= n; u ++) {

{

idx++;
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int v; 11 w; cin >> v >> w;
add(u, v, w), add(v, u, w);

for (int i = 1; 1 <= n; 1 ++)
if(!lvis[i])
dfs(i, -1);

memset(vis, 0, sizeof vis);

for (int i = 1; i <= n; i ++) vis[cir[i]] = 1; //#FI2F LFFE &

11 res = 0;
for (int 1 = 1; i <= cnt; 1 ++) {
ans = 0; // YWEAKWERE
int sz = @; // LHEIEIMHIRET AN
for (int j = ed[i - 1] + 1; j <= ed[i]; J ++) {
int k = cir[j];

d[sz] = dfs_d(k); // SLLE AT AR T 00 & AR E

sum[sz] = s[k];

SZ++;
}
// W REE, WIRFEER d]] AR
for (int j = 9; j < sz; j ++)

d[sz + j] = d[j], sum[sz + j] = sum[j] + sum[sz - 1];

/) B—REHED, WRKEZ d[R] - sum[R]
int hh = 0, tt = -1;
for (int j = 0; j < sz * 2; j++) {

while (hh <= tt && q[hh] <= j - sz) hh++;

if (hh <= tt) ans = max(ans, d[j] + sum[j] + d[q[hh]] - sum[q[hh]]);
while (hh <= tt && d[j] - sum[j] >= d[q[tt]] - sum[q[tt]]) tt--;

a[ ++ tt] = J;
}

res += ans;

}

cout << res << endl;

return 0;

3.11 WI8FH

#include <bits/stdc++.h>

using ull = unsigned long long;

const ull mask = std::chrono::steady clock::now().time_since_epoch().count();

ull shift(ull x) {
x "= mask;

X "= X << 13;
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X "= X >>7;
X "= X << 17;
X "= mask;

return Xx;

int main() {
std::ios::sync_with_stdio(false);

std::cin.tie(nullptr);

int n;
std::cin >> n;
auto G = std::vector<std::vector<int>>(n);
for (int 1 = 1; i < n; 1 ++) {
int u, v;
std::cin >> u >> v;
u--, v--;
G[u].push_back(v);
G[v].push_back(u);

std: :vector<ull> hash_vals(n);

std: :unordered_set<ull> trees;

std: :function<void(int, int)> dfs = [&](int u, int fa) {
hash_vals[u] = 1;
for (const auto v: G[u]) {

if(v == fa) continue;
dfs(v, u);
hash_vals[u] += shift(hash_vals[v]);
}
trees.insert(hash_vals[u]);
}s
dfs(e, -1);

// KA RA T A F AL B T4

std::cout << trees.size() << '\n';

return 0;

3.12 dinic

#include <bits/stdc++.h>

#define pb push_back

using namespace std;

using 11 = long long;

const int N = 1e4 + 10;

const 11 inf = Ox3f3f3f3f3f3f3f3f;
int n, m, s, t, dep[N];
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struct node {int v, cap, rec;};

vector<node> G[N];

bool bfs() {

queue<int> q;
q.push(s);
memset(dep, -1, sizeof dep);
dep[s] = ©;
while (q.size()) {
int u = q.front(); q.pop();
for(auto [v, cap, rev] : G[u])
if(dep[v] == -1 && cap)
dep[v] = dep[u] + 1, q.push(v);
}
return dep[t] != -1;

11 dfs(int u, 11 lim) {

if(u == t || 1im == 0) return lim;

11 tot_flow = 0;

for(auto& [v, cap, rev] : G[u]) {

if(dep[v] == dep[u] + 1 && cap > 0) {

11 d = dfs(v, min(lim, (1l)cap));
cap -= d, G[v][rev].cap += d;
lim -= d, tot_flow += d;
if(lim == @) return tot_flow;

}
if(lim != @) dep[u] = -1;
return tot_flow;

11 dinic() {

int

11 max_flow = 0;
while(bfs())

max_flow += dfs(s, inf);
return max_flow;

main() {

scanf("%d%d%d%d", &n, &m, &s, &t);

while(m --) {
int u, v, cap; scanf("%d%d%d", &u, &v,
G[u].pb({v, cap, G[v].size()});
G[v].pb({u, @, G[u].size() - 1});

}
printf("%11d\n", dinic());
return 0;

&cap);
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4 BHESHKI

4.1 EHE

1 #include<bits/stdc++.h>
2 using namespace std;

4+ void packel {

5 int n, m;

6 cin >> n >> m;

7 vector<int> v(n + 1), w(n + 1);

8 for (int 1 = 1; i <=n; 1 ++) {

9 cin >> v[i] >> w[i]; // volume, weight
10 }

11

12 for (int i = 1; 1 <= n; 1 ++) {

13 for (int j =m; j >= v[i]; j --) {

14 f[31 = max(f[3, f[J - v[ill] + w[i]);
15 /) RKFIE FIF] += F[3 - a[i]];

16 }

17 }

18 cout << f[m] << '\n';

19}

20

21 void completePack {

22 int n, m;

23 cin >> n >> m;

24 vector<int> v(n + 1), w(n + 1);

25 for(int i = 1; i <= n; i++) cin >> v[i] >> w[i];
26

27 // vector<vector<int>> f(n + 1, vector<int>(m + 1));
28 // for(int 1 = 1; 1 <= n; 1i++)

29 // for(int j = 0; j <=m; j++) {

30 // if(3 < v[i]) f[1][3] = f[1 - 1][3];

n // else f[1][j] = max(f[1 - 1][F1,f[1][F - v[i]] + w[i] );
32 // }

33 // cout << f[n][m] << "\n';

34 for(int 1 = 1; i <= n; i++) {

3 for(int j = v[il; j <=m; j ++) { // EFER, &7 1->1 #%, 84008 H LR
36 f[31 = max(F[31,F[J - v[il] + w[i] );

7 /7 FEH: F[3] = f[3] + f[3 - w[i]]

38 }

39 }

40 cout << f[m] << '\n';

a1 return 0;

2}

43
w ) ZEER, EEE N#NEE p2se
45

int main() {

N
o
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return 0;

4.2 ¥ii dp

// lead ¥ & @, Lim 2% Z|[R#%]
int a[N], dp[N][N];
int dfs(int pos, int pre, bool lead, bool limit) {
if (!pos) {
/7 AFREAE
}
if (!limit && !lead && dp[pos][pre] != -1) return dp[pos][prel;

int res = 0, up = limit ? a[pos] : ;
for (int i = 90; i <= up; i ++) {
if ((F&#F4%%) continue;
res += dfs(pos - 1, KE5H], lead && 11, limit && i == up);

}

return limit ? res : (lead ? res : dp[pos][sum] = res);

int cal(int x) {
// — & dp W Ak-1, Llen = @;
memset(dp, -1, sizeof dp);
len = 0;
while (x) a[++ len] = x % |4, x /= [ZE&I;

return dfs(len, , 1, 1);

E

int main() {
cin >> 1 >> r;
cout << cal(r) - cal(l - 1) << endl;

4.3 iR dp
Bt dp —MRETMIEIREN O(n), TEXALEG B RHRE X,
/7 KB E HEAERRE A EE S RN
#include <bits/stdc++.h>
#define pb push_back
#define endl "\n'
using 11 = long long;
using namespace std;
const int N = 1e6 + 10, mod = 1e9 + 7;

11 f[N], ans[N], n;
vector<int> G[N];

11 gpow(1ll a, 11 b) {

ISR JAFE A
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4 HEAL 64

11 res = 1;
while(b) {
if(b & 1) res = res * a % mod;

a=a*a%mod;

b >>=1;
}
return res;
}
void dfs(int u, int fa) {
flu] = 1;
for (auto v:G[u]) {
if(v == fa) continue;
dfs(v, u);
flu] = f[u] * (f[v] + 1) % mod;
}
}
/*

R, ans[u] ICALL u AR, MEREREMEEYROTAE FREE, (IREALZE)
AR TR ans[v]=( ans[u]/(f[v]+1) +1)*F[v]
MR u BAEKRU v BEFE (FIv] + 1) A5 v Tx8 u AEE, +1 EAEAEXN v AFH, BEL Fflv]

MR T, $ R (F[v]+1) KRETTEHE 0 (F[v] TN mod-1), XEAHLYTHT o, Hik

YW inv A @ B, ans[u] EFFEHENTY dp BIEHERKHE flu], T flu] X%T (WHAFILTF F BE +1) BIRA,
BTl ans[u] / (fl[v]+1) XU ER u BEMILFHETRM: u b v 8 EMILFIC brother.

(f[brother_1]+1) * (f[brother 2] + 1) * ..... i, B B A L R LR A

*/

void dp(int u, int fa) {
for (int v:G[u]) {
if(v == fa) continue;
11 inv = gpow(f[v] + 1, mod - 2);
if(inv) ans[v] = (ans[u] * inv % mod + 1) % mod * f[v] % mod;

else {
11 t = 1;
for (auto other:G[u]) {
if(other == v || other == fa) continue;

t =t * (f[other] + 1) % mod;

}

ans[v] = (t + 1) * f[v] % mod;
}
dp(v, u);

int main() {
cin >> n;
for (int 1 = 1; i < n; 1 ++) {
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4 FHEAX

int u, v; cin >> u >> v;
G[u].pb(v), G[v].pb(u);
}
dfs(1, 0);
ans[1] = f[1];
dp(1, 9);

for (int i = 1; i <= n; i ++) cout << ans[i] << endl;

return 0;

4.4 HEEHNL dp
1D/1D dp %%

4.5 HERMA dp
(F5563%)
1. SRR
2. 4y
3. cdq iR

// p3195
#include <bits/stdc++.h>

using namespace std;
using 11 = long long;

const int N = 50050;
int n, L;
11 dp[N], sum[N], f[N], g[N], h, t, Q[NI;

long double slope(int i, int j) {
return (long double) (dp[j] + g[jl - dp[i] - gl[il) / (f[3]1 - f[il);

int main() {
ios::sync_with_stdio(false);
cin.tie(nullptr);
cin >> n >> L;

for(int i = 1; i <= n; i++) {
cin >> sum[i];
sum[i] += sum[i - 1];
f[i] = sum[i] + 1i;
gli] (F[i] + L + 1) * (f[i] + L + 1);
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4 FHEAX

gle]l = (A1)(L + 1) * (L + 1);
for(int i = 1; i <= n; i++) {
while(h < t && slope(Q[h], Q[h + 1]) <= 2 * f[i]) h++;
dp[i] = dp[Q[h]] + (f[i] - f[Q[h]] - L - 1) * (f[i] - f[Q[h]] - L - 1);
while(h < t && slope(Q[t], i) < slope(Q[t - 1], Q[t])) t--;
Q[++t] = i;
}

cout << dp[n] << '\n';
return 0;

#: LIS 1%k

#include <bits/stdc++.h>
using namespace std;

constexpr int mod = 1e9 + 7;

struct Info {

int x, y;

Info(int _x = 0, int _y = 0):x(_x), y(y) {}
s

Info operator+(const Info& a, const Info& b) {
if(a.x == b.x) {
return {a.x, (a.y + b.y) % mod};

} else {
if(a.x > b.x) {
return a;
} else {
return b;
}
}

template<typename T, typename OP = plus<T>>
struct fenwick {
const int n;
vector<T> c;
const OP op;
fenwick(int _n) : n(_n), c(_n + 1), op(OP()) {}
void add(int pos, T v) {
for (int i = pos; i <=n; i +=1i & -i) {
c[i] = op(c[i], v);

}
¥
T query(int pos) {
T res;
for (int i = pos; i; i -=1i & -i) {

res = op(res, c[i]);
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return res;

void discrete(vector<int>& a) {

int

vector<int> b =

a;

sort(b.begin(), b.end());

b.erase(unique(b.begin(), b.end()), b.end());

for (size_t i = 0; i < a.size();

a[i] = lower_bound(b.begin(), b.end(), a[i]) - b.begin() + 1;

main() {

ios::sync_with_stdio(false);

cin.tie(nullptr);

int n;

cin >> n;

vector<int> a(n);

for (auto &x: a) cin >> x;

discrete(a);

vector<int> f(n, 1), dp(n, 1);

fenwick<Info> fen(n);

int ans = 0, LIS = 0;
for (int 1 = 9; i < n; i++) {

// cout <<

"=

"

<< 1 <<

\n';

auto t = fen.query(a[i] - 1);
f[i] = t.x + 1;
dp[i] = max(1, t.y);
fen.add(a[i], {f[i], dp[il});
LIS = max(f[i], LIS);

for (int 1 = 9; i < n; 1 ++) {

if(f[i] ==

(ans += dp[i]) %= mod;

}

cout << ans <«

return 0;

LIS)

‘\n';

i++) {

2
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5.1 ZFfFH Hash

#include <bits/stdc++.h>
using namespace std;
struct Hash {
using ull = unsigned long long;
const int base = 131;
int siz;
vector<ull> pow_base, hash_val; // or p, h due to time budget
Hash() { }
Hash(const string &s) {
siz = s.size();
pow_base.resize(siz);
hash_val.resize(siz);
pow_base[0] = 1;
hash_val[e] = s[0];
for (int i = 1; i < siz; i++){
pow_base[i] = pow_base[i - 1] * base;
hash_val[i] hash_val[i - 1] * base + s[i];

// THAF e Fis, AKX
ull operator[](const array<int, 2>& range) const {
// if(r < L[] L >n) return 6; //REFEME FELELFERL
auto 1 = range[@], r = range[l];
if(1 == 0) return hash_val[r];
return hash_val[r] - hash_val[l - 1] * pow_base[r - 1 + 1];

ull get(int 1, int r) {
return this->operator[]({1, r});

1

struct doubleHash {
using 11 = long long;
int size;
array<int, 2> mod = {2000000011, 2000000033}, base = {20011, 20033},
vector<array<ll, 2>> hash, pow_base;
doubleHash() { }
doubleHash(const string& s) {
size = s.size();
hash.resize(size);
pow_base.resize(size);
pow_base[0][0] = pow_base[0][1] = 1;
hash[0][@] = hash[@][1] = s[0];
for(int i = 1; i < size; i++){
hash[i][@] = (hash[i - 1][@] * base[@] + s[i]) % mod[@];
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hash[i][1] = (hash[i - 1][1] * base[1] + s[i]) % mod[1];
pow_base[i][0] = pow_base[i - 1][0@] * base[0] % mod[@];
pow_base[i][1] = pow_base[i - 1][1] * base[1] % mod[1];

}

array<1l1l, 2> operator[](const array<int, 2>& range) const {
auto 1 = range[@], r = range[l];
if(1l == ©) return hash[r];

return {
(hash[r][@] - hash[1l - 1][@] * pow_base[r - 1 + 1][@0] % mod[@] + mod[@]) %
— mod[@],
(hash[r][1] - hash[1l - 1][1] * pow_base[r - 1 + 1][1] % mod[1] + mod[1]) %
— mod[1]};

}
//double hash to A hash_val

11 get(int 1, int r) {
auto h = this->operator[]({1, r});
return h[0] * 100000000011 + h[1];

¥
int main() {}

5.2 Trie

#include <bits/stdc++.h>
using namespace std;

const int N = 1e5 + 10;
char str[N];
int son[N][26], cnt[N], idx;

void insert(char *str) {

int p = 9;
for (int i = 0; str[i]; 1 ++) {
int u = str[i] - 'a';

if(!son[p][u]) son[p][u] = ++idx;
p = son[p][ul;

}

++ecnt[p];

int query(char *str) {

int p = 9;
for (int i = 0; str[i]; ++i) {
int u = str[i] - 'a';

if(!son[p][u]) return 0;
p = son[p][u];
}

return cnt[p];
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}
5.3 KMP
//p0j2406

#include <bits/stdc++.h>
using namespace std;
const int N = le6 + 10;

char s[N];

int nxt[N], n;

/*

//XE [L, r] B kmp
nxt[Ll] = 6;

for (int 1 =L + 1; 1 <=r; 1 ++) {
int j = nxt[1 - 1];
while(j && s[i] != s[Ll + j]) J =nxt[l + F - 1];
if(s[i] == s[J + L]) J++;

nxt[i] = j;
}
*/
void get_nxt() {
nxt[1] = ©;
for (int 1 =2, j =0; 1 <=n; 1 ++) {
while(j && s[i] != s[j + 1]) j = nxt[j];
if(s[i] == s[J + 1]) J++;
nxt[i] = 3;
}
}

int main() {
while(~scanf("%s", s + 1)) {

if(s[1] == '."') break;
n = strlen(s + 1);
get_nxt();

int period = n - nxt[n];
if(n % period == 0) printf("%d\n", n / period);
else puts("1");

}

return 0;

5.4 Z-algorithm

o BT a0, K a WENEHS b 1 LCP:
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B S NTFREINTRF, K b+S+a K Z BB W o WS ali] 5 b K LCP N

Z(|b| +1+1) -

o R s MIBEAATSN HBLIREL:

R os Bz B MTE—A 0, W Z6) AT 0, WHEERN Z2(0),26) - 1,---
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for (int 1 = n + 1; 1 <2 * n + 1; ++1)
S[z[i]]++;

for (int i = n; i >=1; --1i)
S[i] += S[i + 17;

e 3k s HIFTH border:

KMP ERTLL, ATLIH Z Hik. K s ) Z Rl TR o R i+ Z@) =|s| , W
WiXA~ z-Box XfFi—A4~ border. (JE: 5 KMP A, IXHLIZRFH border, KA

HHIZK) border)

[/ RRNFHE a,b,

/) BEREFANHA: b B z BEEA z.

// b 5 aWE—IEEW LCP KE#HY p.
#include <bits/stdc++.h>

#define rep(i, a, b) for (int i = (a); 1 < (b); 1 ++)
#define sz(a) int((a).size())

using namespace std;

using 11 = long long;

const int N = 2e7;

11 ansz, ansp;

string a, b;

// Zfunction
int z[N << 1];
void getz(string s) {
int 1 = 0;
for (int i = 1; i <= s.size(); i ++) {
if(l + z[1] > i) z[i] = min(z[i - 1], 1 + z[1] - i);
while(i + z[i] < s.size() && s[z[i]] == s[i + z[i]])
if(i + z[i] > 1 + z[1]) 1 = i;
}

// rep(i,0,s.size()) cout<<z[i1]<<" ";cout<<'\n';

int main(){
ios::sync_with_stdio(©);
cin.tie(9),cout.tie(9);
cin >> a >> b, getz(b + a);
ansz "= 111 * (sz(b)+1)*(0+1);
rep(i,1,sz(b)) ansz”=111*(min(z[i],sz(b)-1i)+1)*(i+1);
rep(i,0,sz(a)) ansp”=111*(min(z[i+sz(b)],sz(b))+1)*(i+1);
cout << ansz << "\n'
<< ansp << '\n';
return 0;
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5.5 AC Bzh#l

#include <bits/stdc++.h>

using namespace std;

constexpr int N = 2e5;

struct ACM {

1

int state_num;
struct Node {
array<int, 26> nxt;
int fail;
Node(): nxt{}, fail(e) {}
}s
vector<Node> vec;
ACM(int n) : vec(n + 1) {}
int insert(const string& s) {
int p = 9;
for (auto ch: s) {
int &u = vec[p].nxt[ch -
if(lu) {

u = ++state_num;

a'l;

}
p = u;
}
return p;
}
void build() {
queue<int> q;
for(auto i: vec[@].nxt) {
if(i) q.push(i);
}
while(q.size()) {
int u = gq.front(); q.pop();
for (int i = 0; 1 < 26; 1 ++) {
int &v = vec[u].nxt[i];
int w = vec[vec[u].fail].nxt[i];
if(v) {
vec[v].fail = w;
q.push(v);
} else {

vV = w;
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void solve() {

int n;

cin >> n;

vector<string> patterns(n);
ACM ac(N);

vector<int> id(n); // id[i] &% 1 IMFHELEREHN state num

for (int i = 0; 1 < n; 1 ++) {
cin >> patterns[i];
id[i] = ac.insert(patterns[i]);
}
ac.build();
// cerr << "state num ==

"

// for (int 1 = 1; 1 <= ac.state_num; 1 ++) {
// cerr << 1 << ".fail = "<< ac.vec[i].fail << "\n";

/7 }
/7 cerr << /1111177777777 << \n

vector<vector<int>> G(ac.state_num + 1);

<< dac.state_num <<

for (int i = 1; i <= ac.state_num; i ++) {

G[ac.vec[i].fail].push_back(i);

string t;
cin >> t;

int u = 0;
vector<int> cnt(ac.state_num + 1);
for (auto ch: t) {

u = ac.vec[u].nxt[ch -

a'l;
cnt[u]++;

1 ]

// cerr << u << '\n';

function<void(int)> dfs = [&](int u) {
for (auto v: G[u]) {
dfs(v);
cnt[u] += cnt[v];

}s
dfs(0);
/7 cerr << /1111111771777 <<
for (int 1 = 9; i < n; i++) {
cout << cnt[id[i]] << "\n';

\n';
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int main() {
os::sync_with_stdio(false);
cin.tie(nullptr);
int T =1; // cin >> T;
while(T --) {

solve();
}
return 0;
}
5.6 SA

lep(ivg) FomER i) HFIBRKAILIE (KIKE)
height #ZH5E X htli] = lep(sali], sali — 1))
PL: lep(salil, salj]) = min{ht[i + 1..5]}

Hit, SRTH (F-8 4,5) BKAIRIEMENN T RMQ L (R htfi + 1]

B/MHE) -
AR T ) 5™ hei]

ht iﬂl%@%#ﬁiﬁd\? h X EHR AR o B9IZAST 85 1 H IR ER

#include <bits/stdc++.h>
using namespace std;

class SuffixArray {
// %58 sa[], re[] THM @ Jrie, ht THM 1 e (AHEZKED
private:
int n, m;
vector<int> x, y, cnt;
void radixSort() {
for (int i = 90; i < m; ++ i) cnt[i] =
for (int i = 0; i < n; ++ 1) cnt[x[i]] ++;
for (int 1 = 1; i < m; ++ 1) cnt[i] += cnt[i - 1];
for (int i =n - 1; i >=0; -- i) sa[-- cnt[x[y[i]]]]
}
public:
vector<int> sa, rk, ht;

SuffixArray(const string &s) :
n(s.size()), m(256), //m A FiFEm i E
x(n), y(n), cnt(max(n, m)),
sa(n), rk(n), ht(n) {
init_sa(s);
init_ht(s);

}

void init_sa(const string &s) {
for (int 1 = 0; i < n; ++ 1) {

x[i] = s[i];
y[il = 1i;

= y[i];
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radixSort();

for (int w = 1; w <= n; w <<= 1) {

}

int p = 0;
for (int i = n - w; 1 < n; ++ 1) y[p ++] = 1i;
for (int 1 = 9; i < n; ++ 1)

if (sa[i] >= w) y[p ++] = sa[i] - w;

radixSort();
swap(X, y);
x[sa[e]]
p=1;

auto cmp

9;

[&](int i, int j) {
if (1 < n & j < n) return y[i] == y[j];
return 1 >= n & j >= n;
}s
for (int i = 1; i < n; ++ i)
x[sa[i]] = (cmp(sa[i], sa[i - 1]) && cmp(sa[i - 1] + w, sa[i] + w))
2 p - 1 pt+;

if (p >= n) break;

m = p;

for (int 1 = 0; i < n; ++ 1) rk[sa[i]] = i;

}

void init_ht(const string &s) {

for (int 1 =9, k =0; i < n; ++ 1) {

1

if (rk[i] == @) continue ;

if (k) k --;

int j = sa[rk[i] - 1];

while (i + k < n & j + k < n & s[i + k] == s[j + k]) k ++;
ht[rk[i]] = k;

void solve() {

string s;

cin >> s;
SuffixArray f(s);
for (int i = 9; i < s.size(); ++ 1)

cout << f.sa[i] + 1 << " \n"[1 + 1 == s.size()];

for (int i = 9; i < s.size(); ++ 1)

cout << f.ht[i] << " \n"[1 + 1 == s.size()];

/* nlogn %

int n, m;
char s[N];
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int sa[N], rR[N], ht[N], x[N], id[N], cnt[N];

void init_sa() {

m = 300;

for (int 1 = 1; 1 <= m;
for (int 1 = 1; 1 <= n;
for (int 1 = 1; 1 <= m;
for (int 1 = n; i; i--)
for (int w = 1; w <= n;

int num = 6;

i++) cnt[i] = ©;

1++) ++ cnt[x[1] = s[i]];
i++) cnt[i] += cnt[i - 1];
safcnt[x[1]]--] = 1i;
w<<=1) {

for (int 1 =n - w+ 1; 1 <= n; i++) id[++ num] = 1i;

for (int 1 = 1; 1 <= n; i++)
if (sa[i] > w) id[++ num] = sa[i] - w;

for (int 1
for (int 1
for (int 1
for (int 1

-,

1}
S R Rk R

; 1 <=m; i++) cnt[i] = 6;

; 1 <= n; i++) cnt[x[i1]] ++;

1 <=m; i++) cnt[i] += cnt[i1 - 1];

; 1y 1--) sa[cent[x[1d[1]]] --] = id[1], id[i] = &;

for(int 1 = 1; 1 <= n; 1 ++) swap(x[i], 1d[1]);

x[sa[1]] = 1, num =

1;

auto cmp = [&](int a, int b, int w) {
return id[a] == id[b] && 1id[a + w] == id[b + w];

}s

for (int 1 = 2; 1 <= n; i++)

x[sa[i]] = cmp(sa[i], sa[i - 1], w) ? num : ++num;

if (n == num) break;
m = num;
}
for (int 1 = 1; 1 <= n;
}
*/
5.7 SAM

1. SAM [JEIRESEA BT
2. SAM KRBT

1 ++) rk[sa[i]] = 1i;

2n —1 , MR abbb... BTHE) S
3n—4 , JEFHEEM abbb...be BFEF| L7

76

3. WE SAM MERER [Sn , © RTFRE. OREREHFT A, ATl e ek, arel

ZEEH map ARAEH4D

SAM R FRS BN, AT RTINS BUE A SAM IOERE Dy, e . Ofiaie
S, AR AR, WIS REM map AU 44D

// https://ac.nowcoder.com/acm/contest/33188/H

#include <bits/stdc++.h>

using namespace std;
using i64 = long long;
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struct SuffixAutomaton {
static constexpr int ALPHABET_SIZE = 26, N = le5;
struct Node {
int len, 1link;
int next[ALPHABET_SIZE];
Node() : len(9), link(®), next{} {}
} t[2 * N];
int cntNodes;
SuffixAutomaton() {
cntNodes = 1;
fill(t[@e].next, t[0].next + ALPHABET_SIZE, 1);
t[0].1len = -1;
}
int extend(int p, int c) {
if (t[p].next[c]) {
int q = t[p].next[c];
if (t[q].len == t[p].len + 1)
return q;
int r = ++cntNodes;
t[r].len = t[p].len + 1;
t[r].1link = t[q].1link;
copy(t[q].next, t[q].next + ALPHABET_SIZE, t[r].next);
t[q].1link = r;
while (t[p].next[c] == q) {
t[p].next[c] = r;
p = t[p].1link;
}
return r;
}
int cur = ++cntNodes;
t[cur].len = t[p].len + 1;
while (!t[p].next[c]) {
t[p]l.next[c] = cur;
p = t[p].link;
}
t[cur].link = extend(p, c);

return cur;
¥
int main() {
ios::sync_with_stdio(false);

cin.tie(nullptr);

int n, m, k;

cin >> n >> m >> k;

string A;
cin >> A;
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int p = 1;
SuffixAutomaton sam;
for (auto c : A) {
p = sam.extend(p, c - 'a');

vector<int> w(m);
for (int 1 = 9; i < m; i++) {
cin >> w[i];

vector<i64> s(m + 1);
for (int 1 = 9; i < m; i++) {
s[i + 1] = s[i] + w[i];

while (k--) {
string B;
cin >> B;

int p = 1;
i64 ans = 0;
deque<int> q{0};
for (int 1 =9, j =0, len = 9; i < m; i++) {
while (j < m && sam.t[p].next[B[]j] - 'a']) {
p = sam.t[p].next[B[j] - 'a'l;
len++;
J++s
while (!q.empty() && s[j] > s[q.back()]) {
q.pop_back();
}
q.push_back(j);
}
while (q.front() < i) {
q.pop_front();
}
ans = max(ans, s[q.front()] - s[i]);
len--;
if (len <= sam.t[sam.t[p].link].len) {
p = sam.t[p].link;

}
}
cout << ans << "\n";
}
return 0;
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5.8 Manacher

H Manacher +hash WLLRHEFTAARFAFRFESCFH (FF hash {H), BHERE O(s|)-
HRAH T RN AFIAE B ST 8 HBUREAE G0, BENGE B IIREES, while(l <= r)
ATLL break, EHE n?

auto p = manacher(s);
Hash hs(s); //or doubleHash
set<ull> res; // LL when doubleHash
for (int mid = 1; mid < p.size() - 1; mid ++) {
//HE T ST B A S
int 1 = (mid - p[mid] + 1) / 2, r = (mid + p[mid] - 1) / 2;
while(l <= r) {
if(res.count(hash.get(l, r))) break;
res.insert(hash.get(l++, r--));

}

#include<bits/stdc++.h>
using namespace std;
// return p, p[i] ZrGRENEFLL 1 P OHRKEXCHRF
vector<int> manacher(const string& _s) {
vector<int> p(_s.size() * 2 + 1);
string s(_s.size() * 2 + 1, '$");
for (int 1 = 9; i < _s.size(); i++) s[2 * 1 + 1] = _s[i];
for(int i = 9, maxr = 9, mid = 9; i < s.size(); i++) {
if(i < maxr) p[i] = min(p[mid * 2 - i], maxr - 1i);
while(i - p[i] - 1 >= 0 & i + p[i] + 1 < s.size()
&& s[i - p[i] - 1] == s[i + p[i] + 1)
++p[i];
if(i + p[i] > maxr) maxr = i + p[i], mid = i;
}

return p;

int main() {
string s;
cin >> s;
auto p = manacher(s);
// for (int 1 = 6; 1 < p.size(); 1 ++) {
// cout << p[i] << " \n"[1 == p.size() - 1];
/7 }
cout << (*max_element(p.begin(), p.end())) << endl;
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6.1 glibc AEERH

// Returns the number of 1-bits in x.
int _ builtin_popcount(unsigned int x);
int __ builtin_popcountll(unsigned long long x);

// Returns the number of trailing @ (undefined when x == 0)
int _ builtin_ctz(unsigned int x);
int __builtin_ctzll(unsigned long long x);

// Returns log_2(x)
int _ 1g(int x);

int _ gcd(int x, int y);

6.2 __int128 EH

inline __int128 read(){
_int128 x = 0, f = 1;
char ch = getchar();
while (ch<'@' || ch>'9") { if(ch == '-') f = -1; ch = getchar();}
while (ch >= '0' & ch <= '9') { x = x * 10 + ch - '@'; ch = getchar(); }
return x * f;

inline void print(__int128 x) {
if(x < @) { putchar('-"); x = -x; }
if(x > 9) print(x / 10);
putchar(x % 10 + '0");

6.3 KEBEHIZE

#include <iostream>

#include <vector>
using namespace std;

vector<int> add(vector<int> &A, vector<int> &B) {
if (A.size() < B.size()) return add(B, A);

vector<int> C;

int t = 9;
for (int i = 0; i < A.size(); 1 ++ ) {
t += A[i];

if (i < B.size()) t += B[i];
C.push_back(t % 10);
t /= 10;
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int

}
if (t) C.push_back(t);

return C;

main() {

string a, b;

vector<int> A, B;

cin >> a >> b;

for (int i = a.size() - 1; i >= 0; i -- ) A.push_back(a[i] - '0");
for (int i = b.size() - 1; i >= 0; i -- ) B.push_back(b[i] - '©");

auto C = add(A, B);
for (int i = C.size() - 1; i >=0; i -- ) cout << C[i];

cout << endl;

return 0;

// B

bool cmp(vector<int> &A, vector<int> &B) {

if (A.size() != B.size()) return A.size() > B.size();

for (int i = A.size() - 1; i >=0; i --)
if (A[i] !'= B[i])
return A[i] > B[i];
return true;

vector<int> sub(vector<int> &A, vector<int> &B) {

int

vector<int> C;

for (int 1 =9, t =0; 1 < A.size(); i ++ ) {
t = A[i] - t;
if (i < B.size()) t -= B[i];
C.push_back((t + 10) % 10);
if (t <09) t=1;

else t = 0;
}
while (C.size() > 1 && C.back() == @) C.pop_back();
return C;
main() {

string a, b;

vector<int> A, B;

cin >> a >> b;

for (int i = a.size() - 1; i >= 0; i -- ) A.push_back(a[i] - '0");
for (int i = b.size() - 1; i >= 0; i -- ) B.push_back(b[i] - '©");
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vector<int> C;
if (cmp(A, B)) C = sub(A, B);
else C = sub(B, A), cout << '-';

for (int i = C.size() - 1; i >=0; i -- ) cout << C[i];

cout << endl;

return 0;

// Tk
// EAREMEEN fft

vector<int> mul(vector<int> &A, int

int

vector<int> C;

int t = 9;

for (int i = 0; i < A.size() ||
if (i < A.size()) t += A[i]
C.push_back(t % 10);
t /= 10;

}

while (C.size() > 1 && C.back()

return C;

main() {

string a;

int b;

cin >> a >> b;

vector<int> A;

for (int i = a.size() - 1; i >=
auto C = mul(A, b);

for (int i = C.size() - 1; i »>=

return 0;

vector<int> div(vector<int> &A, int

int

vector<int> C;

r = 0;

for (int i = A.size() - 1; i »>=
r=r * 10 + A[i];
C.push_back(r / b);
r %= b;

}

reverse(C.begin(), C.end());

while (C.size() > 1 && C.back()

return C;

main() {

b)

t;

{

i+ ) {

9;

9;

b,

9;

0) C.pop_back();

i -- ) A.push_back(a[i] - '@");

i -- ) printf("%d", C[i]);

int &r) {

i--9)4

0) C.pop_back();
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string a;

vector<int> A;

int B;

cin >> a >> B;

for (int i = a.size() - 1; i >=0; i -- ) A.push_back(a[i] - '0");

int r;
auto C = div(A, B, r);
for (int i = C.size() - 1; i >=0; i -- ) cout << C[i];

cout << endl << r << endl;
return 0;

6.4 HEH_—H

// XA [L, r] #X 48K [L, ans] # [ans + 1, r] B{EA:
int bsearch_1(int 1, int r) {
while (1 < r) {
int mid =1 + r >> 1;
if (check(mid)) r = mid; // check() #|Wr mid =% i B MR
else 1 = mid + 1;
}
return 1;
}
// KB [L, r] %Xl /& [L, ans - 1] Fo [ans, r] B6A:
int bsearch_2(int 1, int r) {
while (1 < r) {
intmid =1 +r +1 > 1;
if (check(mid)) 1 = mid;
else r = mid - 1;
}

return 1;

6.5 HiFtk

#include <bits/stdc++.h>

using namespace std;

const int N = 1000100;

/7B R, TRENM K LD AN (K WE - (BT HEERE T
int stk[N], tt, a[N];

int main() {
ios::sync_with_stdio(false), cin.tie(®), cout.tie(®);
int n; cin >> n;
for (int 1 = 1; i <= n; i ++) «cin >> a[i];

for (int i = 1; 1 <= n; i++) {
while(tt && stk[tt] >= a[i]) tt--;
if(tt) cout << stk[tt] << ' ';
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else cout << -1 <« ;
stk[++tt] = a[i];
}

return 0;

6.6 EiARNTI

#include<bits/stdc++.h>
using namespace std;
const int N = 1le6 + 10;
int a[N], q[N],n, k;
//RHE
int main() {
cin >> n >> k;
for(int i = 0; i < n; i++) cin >> a[i];
int hh = 0, tt = -1;
for(int i = 0; i < n; i++) {
/7B K BB B AR EE B
if( hh <= tt & i - k + 1 > q[hh]) hh++;
while(hh <= tt && /* FHEEKZLFHR/AE */a[q[tt]] >= a[i]) tt -- ;//FKX[E &/
ql ++ tt ] = 1i;
if(i >= k-1) printf("%d ",a[q[hh]]);
}

return 0;

6.7 FEMERIRERE

template<typename T>
struct matrix {
size_t dim;
vector<vector<T>> mtx;

matrix(int n) : dim(n), mtx(n, vector<T>(n, 0)){}
void I() {
for (size_t i = 0; i < dim; i ++) {
for (size_t j = 0; j < dim; j ++) {
mtx[i][j] = static_cast<T>(i == j);

}

matrix operator*(const matrix &rhs) {
assert(this->dim == rhs.dim && "Matrix dimension must be the same.");
matrix<T> res(dim);
for (size_t i = 0; i < dim; i ++) {
for (size_t j = 90; j < dim; j ++) {
for (size_t k = 0; k < dim; k ++) {
res.mtx[i][j] += (mtx[i][k] * rhs.mtx[k][j]) % mod;
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res.mtx[i][j] %= mod;

}

return res;

matrix operator”(1ll n) {
matrix<T> res(dim);
res.I();
for (; n; n >>=1) {
if(n & 1) res = res * (*this);
*this = *this * (*this);

}
return res;
}
s
6.8 MEX

struct Mex {
int n;
std: :set<int> s;
std: :vector<int> cnt;
Mex(int n) : n(n + 1), cnt(n + 2) {
/7 EE AN e RN 1 TFHEFURTHE
for (int 1 = 0; 1 <=n + 1; i ++) {
s.insert(i);
cnt[i] = 9;

}
int mex() {

// assert(!s.empty());
return *s.begin();

}

void insert(int x) {
if (cnt[x]++ == 0) {
s.erase(x);

}

void erase(int x) {
if (-- cnt[x] == 9) {

s.insert(x);

1

/) BT —AEEEN, TEA, Mk,
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/) REBEE-NTEZEEFHERE (AT ELD

6.9 GospersHack

86

B n TTEREAE k TTERNER. BPMEERRESERNMECE RN, WRIMEE 2»

MR G 7 AE popcount ELUF

void GospersHack(int k, int n) {

int cur = (1 << k) - 1;

int limit = (1 << n);

while (cur < limit) {
// do something
int 1b = cur & -cur;
int r = cur + 1b;
cur = ((r ~ cur) >> _ builtin_ctz(lb) + 2) | r;
// B cur = (((r ~ cur) >>2) / Lb) | r;

6.10 C++17-STL

#include <bits/stdc++.h>
using 11 = long long;
using namespace std;

/*
Lambda expression
*/

/* structure binding */

{
// Graph with weighted edges
vector<vector<pair<int, int>>> G(n);
// somewhere 1in dfs,
for (auto [v, w] : G[u]) {

// using std::tie for multi key compare in structure:
struct Node{
int x, y, z;
bool operator<(const Node& rhs) const {
return tie(x, y, z) < tie(rhs.x, rhs.y, rhs.z);

3

/* discrete manipulate*/
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H A

// vector<int> v. vv = v;
sort(v.begin(), v.end());
v.erase(unique(v.begin(), v.end()), v.end());

some useful function in STL

*/
{

int n = 256;
vector<int> v(n);
// generate v as 0, 1, 2,

// often used when you initialize DSU or generate a permutation

iota(v.begin(), v.end(), 9);

11 res = accumulate(v.begin(), v.end(), 1LL,

[](int a, int b){return (11l)a*b;});

gcd() and lcm(); // not __gcd() version

// sum of kR largest numbers in Llinear time
nth_element(a.begin(), a.end(), k);

11 ans = accumulate(a.begin(), a.begin() + k, OLL);

// max_element and min_element which can be used with user-defined op
cout << *max_element(v.begin(), v.end() /*[]()->bool{}*/);

//std::clamp

// Returns x if it is 1in the 1interval [low, high] or,
// otherwise, the nearest value.No more max of min of max of...

cout << clamp(7, @, 10); //7
cout << clamp(7, @, 5); //5
cout << clamp(7, 1o, 50); //10

/*don't do*/ max(ans, max(tl, t2));
/*just*/ max({ans, t1, t2}); // initalizer List

/* partial_sum and adjacent_difference W& 5%/, */

vector<int> a(n, 2), b(n, 2);
partial_sum(a.begin(), a.end(), a.begin());
partial_sum(a.begin(), a.end(), b.begin());

adjacent_difference(v.begin(), v.end(), v.begin());

count(v.begin(), v.end(), target);

count_if(v.begin(), v.end(), [](int x) {x % 4 == 0});
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H A

// ERAES G T — STL: inplace_merge, merge, partition, stable_partition

// Merges two consecutive sorted ranges [first, middle) and [middle, Llast)

// into one sorted range [first, Llast).

void inplace_merge(BidirIt first, BidirIt middle, BidirIt last);

// example

template<class Iter>

void merge_sort(Iter first, Iter last) {

}

if (last - first > 1) {
Iter middle = first + (last - first) / 2;
merge_sort(first, middle);
merge_sort(middle, last);
std: :inplace_merge(first, middle, last);

// used in merge, cdq

// partition, ¥iHFE 44 p T ERERHa
template <class ForwardIt, class UnaryPredicate>

constexpr ForwardIt partition(ForwardIt first, ForwardIt last, UnaryPredicate p);

// partition ®] stable HRA, #7177 % F £
template <class BidirIt, class UnaryPredicate>
BidirIt stable_partition(BidirIt first, BidirIt last, UnaryPredicate p);

#include <algorithm>

#include <array>

#include <iostream>

int

{

main()

std: :array<int, 9> v{};
std::iota(v.begin(), v.end(), 1);

auto is_even = [](int i){ return i % 2 == 0; };
std::cout.setf(std::ios_base: :boolalpha);
std::cout << std::is_partitioned(v.begin(), v.end(), is_even) << ' ';

std: :partition(v.begin(), v.end(), is_even);
std::cout << std::is_partitioned(v.begin(), v.end(), is_even) << ;

std: :reverse(v.begin(), v.end());

std::cout << std::is_partitioned(v.cbegin(), v.cend(), is_even) << ' ';
std::cout << std::is_partitioned(v.crbegin(), v.crend(), is_even) << '\n';
// output:

// false true false true
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/*
template< class R, class... Args >
class function<R(Args...)>;

*/

{
// a callable obj
function<int(int, int)> dfs = [&](int u, int fa) {
}s

}

/* Set operations (on sorted ranges)*/

{
set<int> s1, s2;
set<int> ans;
set_intersection(sl.begin(), sl.end(),
s2.begin(), s2.end(),
std: :inserter(ans, ans.begin()));
// # K vector, T LLFE back inserter;
}
/*
Initializer in if and switch:
*/
{
set<int> s;
if (auto [iter, ok] = s.insert(42); ok) {
/)
}
else {
// 0R” and “1iter’ are available here
}
//But not here
}
/*
about string
*/
{

substr(npos, count);

string to_string(/*numeric type*/);

W EL LS E P EL T

int stoi(const string &str);

long long stoll(const string &str);
float stof(const string &str);
double stod(const string &str);
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long double stold(const string &str);

// split of string
vector<string> split(const string &str, const char *delim) {
vector<string> tokens;
if (str.empty()) {
return tokens;

}

string token;

size_t curr = 0;

size_t next;

size_t delim_len = strlen(delim);

while ((next = str.find(delim, curr)) != string::npos) {
tokens.emplace_back(str.substr(curr, next - curr));
curr = next + delim_len;

}

if (curr != str.size()) {
// one last word
tokens.emplace_back(str.substr(curr, str.size() - curr));

}

return tokens;

int main() {

}

6.11 pbds
KA

#1include<ext/pb_ds/assoc_container.hpp>
#include<ext/pb_ds/tree policy.hpp>
#include<bits/stdc++.h>

using namespace std;

using namespace __ gnu_pbds;

i find_by order() , order_of key() I set Fl map
RE std::set<int>

using tree = _ gnu pbds::tree<int, null type, less<int>,

rb_tree_tag, tree_order_statistics_node update>;

&% std::multiset<int>

using tree = __gnu_pbds::tree<pair<int, int>, null_type, less<pair<int, int>>,

rb_tree_tag, tree_order_statistics _node update>;
// HENE: insert({value, count++});
// & E Lower bound({value, 0});
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i

#include<ext/pb_ds/assoc_container.hpp>

#include<ext/pb_ds/tree_policy.hpp>
#include<bits/stdc++.h>
using namespace std;

using namespace __gnu_pbds;

using 11 = long long;

// use this as multiset with find_by order

using RBT = __gnu_pbds::tree<pair<1ll, int>, null_type, less<pair<ll, int>>, rb_tree_tag,
— tree_order_statistics_node_update>;
RBT rbt;
int t = 9;
int main() {
int n, m, k;
cin >> n >> m >> k;
std::vector<ll> a(n);
for (int 1 = 9; i < n; i++) {

cin >> a[i];

}

for (int 1 = 9; i < m; 1 ++) {
rbt.insert({a[i], t++});

}

int count = ©;

std: :vector<ll> res(n);

11 kth = 0;

for (auto it = rbt.begin(); count < k; count++, it++) {
res[m - 1] += it->first;
kth = it->first;

}

for (int 1 =m; i < n; 1 ++) {

rbt.erase(rbt.lower_bound({a[i - m], ©}));

rbt.insert({a[i], t++});

auto new_kth = rbt.find_by_order(k - 1)->first;

if (a[i - m] <= kth && a[i] <= kth) {
res[i] = res[i - 1] + (-a[i - m] + a[i]);

} else if (a[i - m] > kth && a[i] <= kth) {
res[i] = res[i - 1] - kth + a[i];

} else if (a[i - m] <= kth && a[i] > kth) {
res[i] = res[i - 1] + new_kth - a[i - m];

}

else if (a[i - m] > kth && a[i] > kth) {
res[i] = res[i - 1];

}

kth = new_kth;
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for (int 1 =m - 1; i < n; 1 ++) {
std::cout << res[i] << " ';

}

return 0;

6.12 —LkzEp

1.

10.

e Xm0, XiE# ged FJH ged(a, b) = gecd(a-b, b) // #H4LEE
FIBYE P Z 078, W ged(a[l], a[l + 1], ..., a[r]) = gcd(a[l], b[1 + 1], ..,
b[r])

—NFH RN TETEHEMN a+b=a® b+ 2(alb)

— N A P BB AN R S5 A A e A [

L R THOR O(/n), (A F R . 1le18 WINKIREH 103680 AT,

1e9 WA 1344 NHT

. BRE B (a+b—1)/b, B ceil(a.0/b.0)

kR =nl -1

. MRT trick: & a[il] > @, Y1 alil=n, W a FAFRMKAE /n F

. HFIMPER: max — min + 1= len

. BRSO BB AR RN AR SHRTET AR SE Y (catalan #)

. ZANEE LCA RHT dfs FRi/NMIECKIITIE AN R LCA

Z?:l Z?:i-u(Ai + Aj)(Bi + Bj) = 2?21 Aiijle‘ + Z?:l(n - Q)AiBi %ﬁf@”ﬂﬂﬂﬁﬁ?ﬁﬂ
AILAME O(n) W] 58K



